Cytology. Cell membrane. Cytoplasma. Gyaloplasma.
How thick is the plasma membrane?
a. 8-10 angstroms
b. 8-10 nanometers
c. 8-10 micrometers
d. 8-10 millimeters
e. None of the above

What is the term for the general process that cells us to expunge material from the cell?
a. Endocytosis
b. Exocytosis
c. Pinocytosis
d. Phagocytosis
e. Active transport
What is the limiting membrane of a cell?
a. Plasmalemma
b. Glycocalyx
c. Protoplasm
d. Cristae
e. Ground substance

What is also called a low resistance junction?
a. Tight junction
b. Gap junction
c. Junctional epithelium
d. Junctional complex
e. None of the above

What is the term for the general process that cells us to bring things into the cell?
a. Endocytosis
b. Exocytosis
c. Pinocytosis
d. Phagocytosis
e. Active transport

What is the term for the process used by cells for the transport in of particulate matter?
a. Endocytosis
b. Exocytosis
c. Pinocytosis
d. Phagocytosis
e. Active transport

What is the polysaccharide coating that is sometimes found on the cell membrane?
a. Plasmalemma
b. Glycocalyx
c. Protoplasm
d. Cristae
e. Ground substance

What process is nicknamed "cell drinking"?
a. Endocytosis
b. Exocytosis
c. Pinocytosis
d. Phagocytosis
e. Active transport

Cytology. Organells. Inclusions.
Which of the following is NOT a membranous organelles?
a. Lysosomes
b. Peroxisomes
c. Mitochondria
d. Ribosomes
e. Endoplasmic reticulum
Which organelle contains digestive enzymes?
a. Rough endoplasmic reticulum
b. Smooth endoplasmic reticulum
c. Lysosome
d. Golgi apparatus
e. Mitochondria

Which organelle is considered the powerhouse of the cell?
a. Rough endoplasmic reticulum
b. Smooth endoplasmic reticulum
c. Lysosome
d. Golgi apparatus
e. Mitochondria

What structure is at the base of cilia?
a. Ribosomes
b. Peroxisome
c. Microfilaments
d. Centrioles
e. Nucleoli

Which of the following is NOT considered an inclusion?
a. Pigment
b. Glycogen
c. Lipid
d. Secretory granules
e. Mitochondria

Collectively, what is the cytoplasm and nucleus called?
a. Plasmalemma
b. Glycocalyx
c. Protoplasm
d. Cristae
e. Ground substance
Which organelle sorts and packages proteins within a cell?
a. Rough endoplasmic reticulum
b. Smooth endoplasmic reticulum
c. Lysosome
d. Golgi apparatus
e. Mitochondria

Which of the following is NOT a membranous organelle?
a. Lysosomes
b. Filaments
c. Peroxisomes
d. Mitochondria
e. Endoplasmic reticulum
What are the folds on the inner mitochodrial membrane called?
a. Plasmalemma
b. Glycocalyx
c. Protoplasm
d. Cristae
e. Ground substance

Which organelle is involved in lipid metabolism?
a. Rough endoplasmic reticulum
b. Smooth endoplasmic reticulum
c. Lysosome
d. Golgi apparatus
e. Mitochondria

Which organelle contains detoxifying enzymes?
a. Ribosomes
b. Peroxisome
c. Microfilaments
d. Centrioles
e. Nucleoli

Which of the following is NOT a membranous organelle?
a. Microtubules
b. Lysosomes
c. Peroxisomes
d. Mitochondria
e. Endoplasmic reticulum

Which of the following is an organelle?
a. Pigment
b. Glycogen
c. Lipid
d. Secretory granules
e. Mitochondria

Which organelle produces protein for export?
a. Rough endoplasmic reticulum
b. Smooth endoplasmic reticulum
c. Lysosome
d. Golgi apparatus
e. Mitochondria

Where are ribosomes constructed?
a. Cytoskeleton
b. Peroxisome
c. Microfilaments
d. Centrioles
e. Nucleoli

What is another term for the cytoplasm outside of organelles?
a. Plasmalemma
b. Glycocalyx
c. Protoplasm
d. Cristae
e. Ground substance

What is the a small clear space within a cell?
a. Space of Disse
b. Space of Mall
c. Vacuole
d. Lacuna
e. Howship's lacuna

Which of the following is NOT a membranous organelle?
a. Lysosomes
b. Peroxisomes
c. Centrioles
d. Mitochondria
e. Endoplasmic reticulum

Which organelle is studded with ribosomes?
a. Rough endoplasmic reticulum
b. Smooth endoplasmic reticulum
c. Lysosome
d. Golgi apparatus
e. Mitochondria

Where is the site of protein synthesis?
a. Ribosomes
b. Peroxisome
c. Microfilaments
d. Centrioles
e. Nucleoli

What structure contributes to the cells cytoskeleton?
a. Ribosomes
b. Peroxisome
c. Microfilaments
d. Centrioles
e. Nucleoli

Cytology.  Nucleus. The cell cycle.
You can see a cell where there are no karyons and no membrane. The chromosomes are located loosely and the centrioles are migrating to the poles. What is the phase of the cell’s cycle?

a. Prophase
b. Anaphase

c. Metaphase
d. Telophase
e. Interphase
A tumor cells culture has been affected by colchicine which blockades the proteins- tubulines creation in the form of separator modioli. Which phases of the cell cycle are supposed to be broken?

a. Mitosis
b. Presynthetic period 

c. Synthetic period
d. Postsynthetic period
e. G-zero period
For gender indication it is sometimes necessary to investigate somatic cells. Which of their structures help to indicate person’s gender?

a. Barr’s body
b. Euchromatin

c. Decondensed chromatin
d. Geterochromatin
e. Optional chromatin
On histological preparation you can see a human somatic cell in the metaphase of the mitotic separation. How many chromosomes are included into a metaphase membrane, provided that every chromosome has two similar ones? 

a. 46 chromosomes
b. 92 chromosomes
c. 23 chromosomes
d. 48 chromosomes
e. 24 chromosomes
Embryology
In the experiment with the frog embryo the ectoblast has been ruined. Which morphological structure is supposed to stop developing?

a. Epidermis
b. Somites

c. Nephrotome
d. Splanchnotome
e. Bone tissue
In the microscope investigation of the embryo membranes you can see a chorion. What is the main function of this organ?  

a. Substance exchange between mother’s organism and fetus

b. Bloodformation

c. Amniotic fluid production

d. The formation of primary sexual cells 

e. The formation of lymphocytes

A 2-3 weeks old embryo has honoblasts which are the presage of sex cells. In what material can these cells be differentiated? 

a. In yolk (vitelline) sac
b. In mesenchyme

c. In embryonic ectoderm
d. In dermatomes
e. In embryonic entoderm
The process of zygote separation finishes in blastula formation. What blastula type is characteristic for a human?

a. Blastocyst
b. Celoblastula

c. Discoblastula
d. Amfiblastula
e. Morula
In the experiment the bird embryo has the sclerothoma broken. What structure is supposed to be affected in its development? 

a. Axial skeleton
b. Skin connecting tissue

c. Stroma of intestines
d. Stroma of gonads
e. Chorda (cord)
As a result of the expression of certain genome components the cells acquire their morphological, biochemical, functional characteristics. What’s this process called?

a. Differentiating
b. Capacitating
c. Reception
d. Determination
e. Adhesion
In the process of acquiring morphological, biochemical, functional characteristics by the cells, they are limited in development opportunities. What’s the limitation acquired called?

a. Commitment
b. Reception

c. Capacitating
d. Determination
e. Adhesion
The embryo material investigated in the somite has a disbalance zone which is located close to endoderm and chorda. What parts of the embryo are affected in their development in case of the pregnancy continuing?  

a. Skeleton tissues
b. Urinogenital system

c. Skeleton striped muscle tissue
d. Fibrous skin connecting tissue
In the embryo material the disbalance of endoterma differentiation has been detected. What changes in the organs development can be expected in this process?

a. Stomach
b. Heart

c. Kidneys
d. Aorta
e. Salivary glands 
Male sexual cells are moving to the ovosyte in the direction opposite to the liquid (distant phase of impregnation). What is this directed movement called?
a. Reotaxis
b. Termotaxis

c. Hemotaxis
d. Capacitating
e. Acrosomal reaction
You can see an ovocyte in the moment of its impregnation by a male sexual cell. What is the main result of impregnation? 

a. Zygote formation

b. Child’s gender determination

c. Ovocyte’s completion of meosis

d. Penetration of oolemma (pellucid zone) by spermatozoon

e. Cortical reaction

In the gystological preparation  you can see a non-parturient organ which presents a saccule connected with the guts tube.  Its inside wall is covered with the epithelium, and the outside wall is formed by the tela conjunctiva. During the embryogenesis early period this organ functions as a hematopoiesis one. Name it.

a. Yolk sac
b. Alantois

c. Amnion
d. Umbilical cord
e. Placenta
The implantation process has two phases – adhesion and invasion. The morphological expression of adhesion process of the balosist is 

a. Attachment of blastocyst to endometrium
b. Ruination of epithelium of endometrium

c. Ruination of connecting tissue of endometrium
d. Ruination of endometric vessels
e. Formation of lacunas
In the process of the embryogenesis an organ which has an endocrine function is formed from a trophoblast. Name the right answer.

a. Villous chorion (fetus part of placenta )
b. Amnion
c. Yolk sac
d. Alantois
e. Umbilical cord
It’s known that some microorganisms able to cause infectious diseases can penetrate the placenta barrier. Which structures below form it? 

a. All structural components of tertiary villi
b. Chorion and amnion

c. All structural components of secondary villi
d. Alantois, yolk sac
e. Basal lamina of endometrium with decidual cells
In the period of gastrulation the embryo has a Genzen nolude not  developed enough. What axial organ is reduced in its development? 

a. Chorda
b. Neural cristae

c. Neural depression
d. Neural tube
e. Mantle layer of neural tube
In histological preparation you can see a hen embryo in the stage of mesoderma differentiation into somites, segment limbs and splanchnotome. What material is the apix skeleton formed of? 

a. Sclerotome
b. Dermatome

c. Nephrotome
d. Splanchnotome
e. Myotome 
Non-embryonic organ, in the early period of embryogenesis, covered with one-layer pavement epithelium which acquires prisma and cube shape and participates, participates in embryo liquor amni producing. Name it. 

a. Amnion
b. Yolk sac
c. Alantois

d. Umbilical cord
e. Placenta
In the period of gastrulation an embryo passes from hystiathrophic to hematothrophic nutrition. Which provisor organ first provides it?

a. Chorion
b. Trophoblast

c. Yolk sac
d. Amnion
e. Alantois

The embryo implantation into the uterus mucous membrane consists of two phases – adhesion and invasion. The fist one is accompanied with…

a. Attachment of blastocyst to endometrium’ surface
b. Ruination of connecting tissue of endometrium

c. Ruination of epiteliocytes of mucous membrane (endometrium) of uterus 
d. Activation of uterine glands’ secretion
e. Depression of uterine glands’ secretion
In the embryogenesis process an organ is formed by the throphoblast which has an endocrine function. Give the right answer.

a. Villous chorion (fetus part of placenta)
b. Amnion

c. Yolk sac
d. Alantois
e. Umbilical cord
There has been genetically reduced the synthesis of litic hormones of trophoblastic cells in a blastocyte covered with blastoderm. What process of the embryo development can be reduced or cancelled?
a. Implantation
b. Delaminating

c. Immigration
d. Gastrulating
e. Epiboly
In the process of the human embryo development one can observe the appearance of a cavity, small light blastomeres in the periphery and big dark blastomeres in one of the poles. What ois the embryo called on this stage of its development?  

a. Blastocyst
b. Morula
c. Zygote (zigocyte)
d. Gastrula
e. Blastodisk
While investigating a dead embryo one can observe the changes in cardiomiocytes. What development defects resulted these changes?

a. Myoepicardial plate
b. Myotome
c. Entoderm
d. Ektoderm
e. Mesenchyme
A human embryo not fixed in the endometrium has been found in the uterus cavity. What is the stage of development this phenomenon characteristic to?

a. Blastocyst
b. Zygote (zigocyte)

c. Morula
d. Gastrula
e. Neurulla
The implantation process consists of  two phases – adhesion and invasion. The first phase is accompanied by…

a. Attachment of blastocyst to endometrium’ surface
b. Ruination of connecting tissue of endometrium

c. Ruination of epiteliocytes of mucous membrane (endometrium) of uterus 
d. Activation of uterine glands’ secretion
e. Depression of uterine glands’ secretion
There has been found a human embryo formed by two blastomeres. Name the place of its location on condition of the normal development.

a. Uterine tube
b. Uterine cavity

c. Womb cavity
d. Mucous membrane of uterus
e. Ovary
The process of zygote splitting finishes in blastula forming. What type of blastula is characteristic for a human? 

a. Blastocyst
b. Celoblastula

c. Discoblastula
d. Amfiblastula
e. Morula
In the process of human embryo forming one can observe a cavity, small light  blastomeres in the periphery and big dark blastomeres on the poles. What is the embryo called in this period?

a. Blastocyst
b. Morula
c. Zygote (zigocyte)
d. Gastrula
e. Discoblastula
One of the crucial periods of the human embryogenesis is the embryo implantation into the uterus perimetrium during the seventh week. Which gastrulation process is going on in this period?

a. Delaminating
b. Migration

c. Epiboly
d. Invagination
e. Neurolation
During the microscope investigation of female inner reproduction organs after their extirpation a two blastomeres embryo. What’s the place of its location on condition of the normal development?

a. Uterine tube, near ampulla part
b. Uterine tube, near uterine part

c. Uterine cavity
d. Womb cavity
e. Ovary
The early human embryo gastrulation happens by the embryoblast delamination. What structure is the beginning of the nervous system located in?

a. In epiblast
b. In trophoblast

c. In hypoblast
d. In side part of hypoblast
e. In the centre of hypoblast
The human blastocyst implantation starts. Name the period of the embryogenesis which starts simultaneously?

a. Gastrulating
b. Invagination

c. Differentiation
d. Histogenesis
e. Splitting up
In the human embryo micropreparation taken from the natural abortion one can see an embryo scutulum. What is the period of the embryo development?

a. Gastrulating
b. Blastulating

c. Progenesis
d. Organogenesis (organogeny)
In the period of gastrulation an embryo passes from hystiathrophic to hematothrophic nutrition. What provisor organ provides it first?

a. Chorion
b. Trophoblast

c. Yolk sac
d. Amnion
e. Alantois

An antigene of the tissue compatibility is inherites by the child form the parents. What provisoring organ first prevents the rejection by the mother organism?

a. Chorion
b. Amnion
c. Alantois

d. Yolk sac
e. Umbilical cord
In the human embryo micropreparation, taken from the natural abortion one can see an embryo scutulum. What is the period of the embryo development?

a. Gastrulating
b. Progenesis

c. Neurulation
d. Histogenesis
While examinationg athe woman who was killed in an accident there was found an embryo on the stage of the early gastrulation. Point out its location on condition of the normal development. 

a. Uterine wall
b. Ampulla part of oviduct

c. Uterine part of oviduct
d. Ovary
e. Womb cavity
In the period of early human gastrulation the ectoderm and the endoterm are forming. What is the mechanism of their gorming?

a. Delaminating
b. Invagination

c. Epiboly
d. Immigration
e. Invagination, epiboly
In the first crucial period in the uretus tube there happened the dissolving of the embryo. What pregnancy problems can be detected in this case?

a. Implantation of an embryo in a tube wall
b. Death of an embryo

c. Invagination of blastocyst wall
d. Return of blastocyst back to tube’s ampulla zone 
e. Formation of two blastocysts
Producing a seria of hormones, the placenta plays the role of  a terminal endocrine gland.  What hormone can be pointed in the blood of  a woman during the 3-4th day from the making a pregnancy diagnosis?
a. Chorionic gonadotropin (choriogonadotropin)
b. Somatostatin

c. Progesterone
d. Vasopressin (antidiuretic hormone, beta-hypophamine)
e. Oxytocin (ocytocin, α-hypophamine)
In the result of the investigation of amniotic liquor taken during the amniocenthesis there have been founded the cells having sex chromosomes in their  nucleus (Barr corpuscle). What does it mean? 

a. Development of a feminine fetus
b. Development of a masculine fetus

c. Genetic abnormality in development of fetus
d. Trisomy
e. Polyploidy
A new-born child has been diagnosed the blue asphycsia. What vessel bringing oxygen to the embryo from the mother’s blood was damaged during the delivery? 

a. Umbilical vein (vena umbilicalis)
b. Umbilical artery (arteria umbilicalis)

c. Chorionical vein
d. Chorionical artery
e. Uterine artery (arteria uterina)
According to the statistics, 10-14% of new-born children have the defects of urinary system. What are the sources of the urinary system development?

a. Non-segmental caudal mesoderm
b. Dorsal mesoderm

c. Visceral part of ventral mesoderm
d. Parietal part of ventral mesoderm
e. Embryonic mesenchyme
In the early human embryo development period there occurs a finger-like ecphyma of the initial gut ventral wall which grows into an amniotic pedicle. What is the name of this provisor 

a. An allantois 
b. A yolk (vitelline) sac

c. An amnion 
d. A placenta 
e. An umbilical cord
In the histologic preparation you can see a transverse cut of an organ, the basis of which is formed by the mucous tela conjuctiva, two arteties and one vein. What organ is it?

a. An umbilical cord 
b. An allantois

c. A yolk (vitelline) sac 
d. An amnion
e. A placenta 
In the histologic human embryo preparation one can see a phlycten connected with a gut tube which is one of the provisor organs. An initial sex cells and initial erytrocytes (megaloblasts). What organ is this?

a. A yolk (vitelline) sac 
b. An allantois

c. A placenta
d. An umbilical cord
e. An amnion
The early human embryo gastrulation happens by the embryoblast delamination. In what structure is the beginning of the nervous system located?

a. In epiblast
b. In trofoblast

c. In hypoblast
d. In side part of hypoblast
e. In the centre of hypoblast
In a child’s finger skin preparation we can observe the signs of unsufficient development. What embryo layer has been damaged?

a. Ektoderm
b. Mesoderm

c. Entoderm
d. Mesenchyme
e. Ektomesenchyme
In the histologic human embryo preparation one can see a phlycten connected with a gut tube which is one of the provisor organs. An initial sex cells and initial erytrocytes (megaloblasts). What organ is this?  

a. A yolk (vitelline) sac 
b. An allantois

c. A placenta
d. An umbilical cord
e. An amnion
The embryo umbilical cord constriction has happened but the blood circulation between the mother and the child hasn’t been changed. What structures have first provided it?

a. Mucous (mucilaginous) connective tissue
b. Remaining part of allantois

c. Arteries’ membrane
d. Veins’ membrane
e. Remaining part of yolk rope
The woman had influenza (grip) and it was found that it happened in the period of the early gastrulation. What results of it can be expected? 

a. Disorder in formation of ekto- and endoderm  
b. Disorder in formation of mesoderm

c. Disorder in formation of mesenchyme
d. Disorder in the process of epibolia
e. Disorder in the process of invagination
There has been genetically reduced the synthesis of litic hormones of trophoblastic cells in a blastocyst covered with blastoderm. What process of the embryo development can be reduced or cancelled?

a. Implantation (nidation, implantation, nidatio)
b. Delamination

c. Immigration
d. Gastrulation
e. Epibolia
In the human embryo micropreparation, taken from the natural abortion one can see an embryo scutulum. What is the period of the embryo development?

a. Gastrulation
b. Progenesis

c. Neurulation
d. Histogenesis (gistogeny)
e. Organogenesis (organogeny)
Producing a seria of hormones, the placenta plays the role of a terminal endocrine gland.  What hormone can be pointed in the blood of a woman during the 3-4th day from the making a pregnancy diagnosis?

a. Chorionic gonadotropin (choriogonadotropin)
b. Somatostatin

c. Progesterone
d. Vasopressin (antidiuretic hormone, beta-hypophamine)
e. Oxytocin (ocytocin, α-hypophamine)
In the result of the investigation of amniotic liquor taken during the amniocenthesis there have been founded the cells having sex chromosomes in their nucleus (Barr corpuscle). What does it mean? 

a. Development of a feminine fetus
b. Development of a masculine fetus

c. Genetic abnormality in development of fetus
d. Trisomy
Tissues. Epithelium tissue.
What type of tissue lines the bladder?
a. Simple squamous epithelium
b. Simple cuboidal epithelium
c. Simple columnar epithelium
d. Stratified squamous epithelium
e. Transitional epithelium

What type of tissue lines most ducts?
a. Simple squamous epithelium
b. Simple cuboidal epithelium
c. Simple columnar epithelium
d. Stratified squamous epithelium
e. Transitional epithelium

What type of epithelium is associated with goblet cells?
a. Simple squamous epithelium
b. Simple cuboidal epithelium
c. Simple columnar epithelium
d. Stratified squamous epithelium
e. Pseudostratified epithelium

What type of epithelial cells are as tall as they are wide?
a. Simple
b. Stratified
c. Squamous
d. Cuboidal
e. Columnar

What do you call the simple squamous epithelium that lines the blood vessels?
a. Epithelioid tissue
b. Mesothelium
c. Endothelium
d. Transitional
e. Pseudostratified

What cell type makes up the mucosa of the gallbladder?
a. Simple squamous epithelium
b. Simple cuboidal epithelium
c. Simple columnar epithelium
d. Stratified squamous epithelium
e. Transitional epithelium

Which of the following is lined by a serosa?
a. Genitourinary tract
b. Peritoneal cavity
c. Respiratory tract
d. Alimentary canal
e. All of the above are lined by a mucosa

What type of gland secretes its product through a duct or tube?
a. Endocrine gland
b. Multicellular gland
c. Exocrine gland
d. All of the above
e. None of the above

What is a gland called if the secretory portion is flask shaped?
a. Simple gland
b. Compound gland
c. Tubular
d. Alveolar
e. Tubuloalveolar

What forms the brush border?
a. Microvilli
b. Stereocilia
c. Cilia
d. Keratinization
e. Both a and b

What type of epithelium lines the trachea?
a. Simple squamous epithelium
b. Simple cuboidal epithelium
c. Simple columnar epithelium
d. Stratified squamous epithelium
e. Pseudostratified epithelium

What type of tissue lines blood vessels?
a. Simple squamous epithelium
b. Simple cuboidal epithelium
c. Simple columnar epithelium
d. Stratified squamous epithelium
e. Transitional epithelium

What type of epithelium is more than one layer thick?
a. Simple
b. Stratified
c. Squamous
d. Cuboidal
e. Columnar

What do you call a tissue composed of a conglomeration of cells which are tightly packed together, yet which does not have a free surface? An example of such a tissue would be the parenchyma of the adrenal gland.
a. Epithelioid tissue
b. Mesothelium
c. Endothelium
d. Transitional
e. Pseudostratified

What type of epithelium appears stratified, but is not?
a. Epithelioid tissue
b. Mesothelium
c. Endothelium
d. Transitional
e. Pseudostratified

Which of the following is lined by a mucosa?
a. Peritoneal cavity
b. Pericardial cavity
c. Pleural cavity
d. Alimentary canal
e. All of the above are lined by a mucosa

What type of gland secretes its product directly into the bloodstream?
a. Endocrine gland
b. Multicellular gland
c. Exocrine gland
d. All of the above
e. None of the above

What is a gland called if it has an unbranched duct?
a. Simple gland
b. Compound gland
c. Tubular
d. Alveolar
e. Tubuloalveolar

What is a gland called if the secretory portion is tube shaped ending in a flask shaped 
area at the terminus?
a. Simple gland
b. Compound gland
c. Tubular
d. Alveolar
e. Tubuloalveolar

What is the surface modification seen on the cells of the epididymis?
a. Microvilli
b. Stereocilia
c. Cilia
d. Keratinization
e. Both a and b

What type of epithelium forms the epidermis?
a. Simple squamous epithelium
b. Simple cuboidal epithelium
c. Simple columnar epithelium
d. Stratified squamous epithelium
e. Pseudostratified epithelium
What type of tissue lines most of the gastrointestinal tract?
a. Simple squamous epithelium
b. Simple cuboidal epithelium
c. Simple columnar epithelium
d. Stratified squamous epithelium
e. Transitional epithelium

What type of tissue forms the alveoli in the lung?
a. Simple squamous epithelium
b. Simple cuboidal epithelium
c. Simple columnar epithelium
d. Stratified squamous epithelium
e. Pseudostratified epithelium

What type of epithelium is composed of flat cells?
a. Simple
b. Stratified
c. Squamous
d. Cuboidal
e. Columnar

What do you call the simple squamous epithelium that lines the abdominal cavity?
a. Epithelioid tissue
b. Mesothelium
c. Endothelium
d. Transitional
e. Pseudostratified

What type of epithelium is composed of cells which all touch the basement membrane 
and is only one cell layer thick?
a. Stratified squamous epithelium
b. Transitional epithelium
c. Stratified cuboidal epithelium
d. Pseudostratified epithelium
e. None of the above

Which of the following is NOT lined by a mucosa?
a. Genitourinary tract
b. Pericardial cavity
c. Respiratory tract
d. Alimentary canal
e. All of the above are lined by a mucosa

What is a gland called if it has an branched duct?
a. Simple gland
b. Compound gland
c. Tubular
d. Alveolar
e. Tubuloalveolar

What are finger like projections on the surface of some cells called?
a. Microvilli
b. Stereocilia
c. Cilia
d. Keratinization
e. Both a and b

What cell surface modification is made of microtubules?
a. Microvilli
b. Stereocilia
c. Cilia
d. Keratinization
e. Both a and b

What type of tissue composes the kidney tubules?
a. Simple squamous epithelium
b. Simple cuboidal epithelium
c. Simple columnar epithelium
d. Stratified squamous epithelium
e. Transitional epithelium

What type of tissue lines the esophagus?
a. Simple squamous epithelium
b. Simple cuboidal epithelium
c. Simple columnar epithelium
d. Stratified squamous epithelium
e. Transitional epithelium

What type of epithelium is one cell layer thick?
a. Simple
b. Stratified
c. Squamous
d. Cuboidal
e. Columnar

What type of epithelial cells are taller than they are wide?
a. Simple
b. Stratified
c. Squamous
d. Cuboidal
e. Columnar

What type of epithelium has dome shaped cells on the apical surface?
a. Epithelioid tissue
b. Mesothelium
c. Endothelium
d. Transitional
e. Pseudostratified

Which of the following is NOT lined by a serosa?
a. Peritoneal cavity
b. Pericardial cavity
c. Pleural cavity
d. Respiratory tract
e. All of the above are lined by a serosa

Which of the following is a unicellular gland?
a. Squamous cell
b. Goblet cell
c. Basal cell
d. Basket cell
e. Sertoli cell

What forms the striated border?
a. Microvilli
b. Stereocilia
c. Cilia
d. Keratinization
e. Both a and b

What is a characteristic of the cells in the epidermis of the skin?
a. Microvilli
b. Stereocilia
c. Cilia
d. Keratinization
e. Both a and b

What is another term for an acinar gland?
a. Simple gland
b. Compound gland
c. Tubular
d. Alveolar
e. Tubuloalveolar

Blood. Haemopoiesis.
Which of the four basic tissue types does blood belong to?
a. Epithelium
b. Connective tissue
c. Muscle
d. Nervous tissue
e. Blood

Which of the following formed elements do not contain a nucleus?
a. Platelets
b. Erythrocytes
c. Leukocytes
d. Monocytes
e. Both a and b

What comes from a megakaryocyte?
a. Lymphocytes
b. Basophils
c. Erythrocytes
d. Monocytes
e. Platelets

Which leukocyte is the most abundant in a peripheral smear of blood?
a. Lymphocytes
b. Basophils
c. Neutrophil
d. Monocytes
e. Eosinophils

Which of the following is not a granulocyte?
a. Lymphocytes
b. Neutrophil
c. PMN
d. Eosinophils
e. Basophils

Which of the following is a granulocyte?
a. Thrombocyte
b. Lymphocyte
c. Eosinophil
d. Monocyte
e. Erythrocyte

Which of the following is NOT a term used for a neutrophil?
a. Polymorphonuclear neutrophils
b. Poly's
c. PMN
d. NP
e. Polymorph

Which leukocyte has a multi-lobed (3-5 lobes) nucleus?
a. Neutrophil
b. Lymphocytes
c. Monocytes
d. Eosinophil
e. Basophils

Which cell has large blue granules, often obscuring the nucleus?
a. Neutrophil
b. Lymphocytes
c. Monocytes
d. Eosinophil
e. Basophils

Which of the following is not considered a "formed element"?
a. Plasma
b. Erythrocytes
c. Platelets
d. Leukocytes
e. Red blood cells

Which leukocyte is the second most abundant in a peripheral smear of blood?
a. Lymphocytes
b. Basophils
c. Neutrophil
d. Monocytes
e. Eosinophils

Which of the following is a granulocyte?
a. Lymphocyte
b. Neutrophil
c. Monocyte
d. Erythrocyte
e. Thrombocyte

Which leukocyte has orange-pink granules?
a. Neutrophil
b. Lymphocytes
c. Monocytes
d. Eosinophil
e. Basophils

What is another term for a red blood cell?
a. Thrombocyte
b. Monocyte
c. Lymphocyte
d. Basophil
e. Erythrocyte

Which of the following is described as a "biconcave disc"?
a. Platelets
b. Erythrocytes
c. Leukocytes
d. Monocytes
e. Eosinophils

Which is the largest leukocyte?
a. Neutrophil
b. Lymphocytes
c. Monocytes
d. Eosinophil
e. Basophils

Connective tissue.
Which of the following is NOT primarily composed of connective tissue?
a. Blood
b. Bone
c. Tendon
d. Intervertebral disc
e. Myometrium

Which of the following is NOT a fiber found in connective tissue?
a. Collagen fiber
b. Elastic fiber
c. Reticular fiber
d. Purkinje fiber
e. All of the above are fibers found in connective tissue

Which connective tissue cell type contains properties of smooth muscle cells?
a. Fibroblast
b. Myofibroblast
c. Histiocyte
d. Plasma cell
e. Mast cell

Which cell is a connective tissue macrophage?
a. Kupffer cells
b. Histiocyte
c. Dust cell
d. Langerhans cell
e. Microglia

Which of the following can be classified as "specialized connective tissue"?
a. Mesenchyme
b. Mucous connective tissue
c. Dense connective tissue
d. Blood
e. Loose connective tissue

Which of the following can be classified as "embryonic connective tissue"?
a. Cartilage
b. Mucous connective tissue
d. Adipose tissue
d. Bone
e. Blood

What type of tissue makes up the dermis of the skin?
a. Mucous connective tissue
b. Mesenchyme
c. Loose irregular connective tissue
d. Dense irregular connective tissue
e. Dense regular connective tissue

What type of adipose tissue tends to increase as humans age?
a. Brown adipose tissue
b. White adipose tissue
c. Unilocular adipose tissue
d. Multilocular adipose tissue
e. Both b and c

What color does connective tissue stain with Gomori's trichrome?
a. Orange
b. Blue
c. Pink
d. Red
e. Green

Which of the following would be best suited to differentiate collagen fibers from other fibers?
a. Wright's stain
b. Hematoxylin and eosin stain
c. Sudan stain
d. Silver impregnation
e. Masson's trichrome stain

11. Which of the following is NOT primarily composed of connective tissue?
a. Bone marrow
b. Articular cartilage
c. Heart
d. Mesenchyme
e. Fat

Which one of these cells is not a cell type routinely found in loose connective tissue?
a. Fibroblast
b. Microglia
c. Histiocyte
d. Plasma cell
e. Mast cell

Which connective tissue cell is a tissue macrophage?
a. Fibroblast
b. Myofibroblast
c. Histiocyte
d. Plasma cell
e. Mast cell

Which of the following can be classified as "specialized connective tissue"?
a. Cartilage
b. Loose connective tissue
c. Mesenchyme
d. Dense connective tissue
e. Mucous connective tissue

Which of the following can be classified as "connective tissue proper"?
a. Adipose tissue
b. Dense irregular connective tissue
c. Bone
d. Blood
e. Cartilage

What type of tissue is Wharton's jelly?
a. Mucous connective tissue
b. Mesenchyme
c. Loose irregular connective tissue
d. Dense irregular connective tissue
e. Dense regular connective tissue

What type of tissue is a tendon composed of?
a. Mucous connective tissue
b. Mesenchyme
c. Loose irregular connective tissue
d. Dense irregular connective tissue
e. Dense regular connective tissue

What does connective tissue develop from?
a. Mesothelium
b. Mesenchyme
c. Mesangial cells
d. Mesentery
e. Wharton's jelly

What color do elastic fibers stain with Verhoeff Elastic stain?
a. Red/Orange
b. Pink/red
c. Purple/Red
d. Blue/black
e. Green/blue

Which of the following is a component of the ground substance?
a. Hyaluronic acid
b. Proteoglycans
c. Glycosaminoglycans
d. Chondroitin sulfate
e. All of the above

Which of the following is NOT primarily composed of connective tissue?
a. Spinal cord
b. Pubic symphysis
c. Ligament
d. Areolar tissue
e. Organ capsule

Which connective tissue cell type produces the ground substance in connective tissue?
a. Fibroblast
b. Myofibroblast
c. Histiocyte
d. Plasma cell
e. Mast cell

Which connective tissue cell is derived from B lymphocytes?
a. Fibroblast
b. Myofibroblast
c. Histiocyte
d. Plasma cell
e. Mast cell

Which of the following can be classified as "specialized connective tissue"?
a. Mesenchyme
b. Bone
c. Dense connective tissue
d. Mucous connective tissue
e. Loose connective tissue

Which of the following can be classified as "connective tissue proper"?
a. Bone
b. Blood
c. Adipose tissue
d. Loose irregular connective tissue
e. Cartilage

What type of connective tissue is an undifferentiated tissue found in the embryo?
a. Mucous connective tissue
b. Mesenchyme
c. Loose irregular connective tissue
d. Dense irregular connective tissue
e. Dense regular connective tissue

What type of tissue is a ligament composed of?
a. Mucous connective tissue
b. Mesenchyme
c. Loose irregular connective tissue
d. Dense irregular connective tissue
e. Dense regular connective tissue

Which of the following is not associated with connective tissue?
a. Tightly packed cells
b. Extracellular fibers
c. Tissue fluid
d. Ground substance
e. None of the above; all of the above are seen with connective tissue

Which of the following would be best suited to visualize lipid?
a. Wright's stain
b. Hematoxylin and eosin stain
c. Sudan stain
d. Silver impregnation
e. Masson's trichrome stain

A beauty treatment for the reduction of wrinkles is the injection of hyaluronic acid into the wrinkle. What is hyaluronic acid?
a. Dermatan sulfate
b. Proteoglycan
c. Glycosaminoglycan
d. Chondroitin sulfate
e. Keratan sulfate

Which is the most abundant fiber in connective tissue?
a. Collagen fiber
b. Elastic fiber
c. Reticular fiber
d. Purkinje fiber
e. Muscle fibers

Which connective tissue cell type produces collagen?
a. Fibroblast
b. Connective tissue macrophage
c. Histiocyte
d. Plasma cell
e. Mast cell

Which connective tissue cell type secretes histamine?
a. Fibroblast
b. Myofibroblast
c. Histiocyte
d. Plasma cell
e. Mast cell

Which of the following can be classified as "specialized connective tissue"?
a. Loose connective tissue
b. Mesenchyme
c. Adipose tissue
d. Mucous connective tissue
e. Dense connective tissue

Which of the following can be classified as "embryonic connective tissue"?
a. Adipose tissue
b. Bone
c. Blood
d. Cartilage
e. Mesenchyme

What is areolar tissue?
a. Mucous connective tissue
b. Mesenchyme
c. Loose irregular connective tissue
d. Dense irregular connective tissue
e. Dense regular connective tissue

What type of adipose tissue tends to decrease as humans age?
a. Brown adipose tissue
b. White adipose tissue
c. Unilocular adipose tissue
d. Multilocular adipose tissue
e. Both a and d

What color are collagen fibers with Masson's trichrome stain?
a. Red
b. Pink
c. Green
d. Black
e. Yellow

Which of the following would be best suited to visualize reticular fibers?
a. Wright's stain
b. Hematoxylin and eosin stain
c. Sudan stain
d. Silver impregnation
e. Masson's trichrome stain

Skeletal tissue. Cartilage.

What type of basic tissue type is cartilage?
a. Muscle
b. Nervous
c. Cartilage
d. Epithelium
e. Connective tissue

How many types of cartilage are there?
a. 1
b. 2
c. 3
d. 4
e. 5 

What do you call the space where a chondrocyte sits in?
a. Space of Disse
b. Space of Mall
c. Vacuole
d. Lacuna
e. Howship's Lacuna

What stain would be best to demonstrate the elastic fibers in elastic cartilage?
a. Wright's stain
b. Hematoxylin and eosin stain
c. Sudan stain
d. Silver impregnation
e. Resorcin fuchsin and orcein

Which type of cartilage is found in the walls of the eustachian tube?
a. Hyaline cartilage
b. Elastic cartilage
c. Fibrocartilage
d. All of the above
e. None of the above

Which type of cartilage forms the skeleton of the fetus?
a. Hyaline cartilage
b. Elastic cartilage
c. Fibrocartilage
d. All of the above
e. None of the above

What type of tissue makes up the "Adam's apple"?
a. Hyaline cartilage
b. Fibrocartilage
c. Elastic cartilage
d. Both a and b
e. Both a and c

Which type of cartilage forms the intervertebral disc?
a. Hyaline cartilage
b. Elastic cartilage
c. Fibrocartilage
d. All of the above
e. None of the above

Which type of cartilage forms the hammer, anvil and stirrup?
a. Hyaline cartilage
b. Elastic cartilage
c. Fibrocartilage
d. All of the above
e. None of the above

Which type of cartilage is characterized by the presence of elastic fibers?
a. Hyaline cartilage
b. Elastic cartilage
c. Fibrocartilage
d. All of the above
e. None of the above

Which type of cartilage is highly vascular?
a. Hyaline cartilage
b. Elastic cartilage
c. Fibrocartilage
d. All of the above
e. None of the above

What cell produces the cartilaginous matrix?
a. Chondrocyte
b. Chondroblast
c. Osteocyte
d. Osteoclast
e. Bone lining cell

Which type of cartilage is found in the larynx?
a. Hyaline cartilage
b. Elastic cartilage
c. Fibrocartilage
d. Both a and b
e. All of the above

Which of the following is NOT a glycosaminoglycan in cartilage?
a. Chondroitin sulfate
b. Proteoglycans
c. Keratan sulfate
d. Hyaluronic acid
e. All of the above are glycosaminoglycans in cartilage

Which type of cartilage is characterized by a glassy matrix?
a. Hyaline cartilage
b. Elastic cartilage
c. Fibrocartilage
d. All of the above
e. None of the above

Which type of cartilage is characterized by the presence of chondrocytes sitting in lacunae?
a. Hyaline cartilage
b. Elastic cartilage
c. Fibrocartilage
d. All of the above
e. None of the above

Which type of cartilage is the most abundant?
a. Hyaline cartilage
b. Elastic cartilage
c. Fibrocartilage
d. Hyaline cartilage and elastic cartilage equally
e. Elastic cartilage and fibrocartilage equally

Which type of cartilage forms the articular surface on bones?
a. Hyaline cartilage
b. Elastic cartilage
c. Fibrocartilage
d. All of the above
e. None of the above

Which type of cartilage is found in the external ear?
a. Hyaline cartilage
b. Elastic cartilage
c. Fibrocartilage
d. All of the above
e. None of the above

Costal cartilage is composed of what type of cartilage?
a. Hyaline cartilage
b. Elastic cartilage
c. Fibrocartilage
d. All of the above
e. None of the above

Which type of cartilage forms the symphysis pubis?
a. Hyaline cartilage
b. Elastic cartilage
c. Fibrocartilage
d. All of the above
e. None of the above

What structure is called white cartilage?
a. Hyaline cartilage
b. Elastic cartilage
c. Fibrocartilage
d. Compact bone
e. Spongy bone

What is the connective tissue covering which surrounds cartilage?
a. Perimysium
b. Periosteum
c. Perichondrium
d. Perineurium
e. Endosteum

Where does cartilage come from?
a. Ectoderm
b. Endoderm
c. Mesenchyme
d. Connective tissue
e. None of the above

What is the mature cell in cartilage called?
a. Chondrocyte
b. Chondroblast
c. Osteocyte
d. Osteoclast
e. Bone lining cell

Regarding the blood supply to cartilage:
a. Cartilage has minimal circulation
b. Cartilage has a duel circulation
c. Cartilage is highly vascular
d. Cartilage is avascular
e. There is nothing unique about the blood supply to cartilage

Which type of cartilage is characterized by the presence of thick bundles of collagen fibers?
a. Hyaline cartilage
b. Elastic cartilage
c. Fibrocartilage
d. All of the above
e. None of the above

What percent of the matrix of cartilage is water?
a. 0
b. 10-40
c. 40-60
d. 60-80
e. 80-100

Which type of cartilage forms the epiphyseal growth plate?
a. Hyaline cartilage
b. Elastic cartilage
c. Fibrocartilage
d. All of the above
e. None of the above

What type of tissue makes up the rings of the trachea?
a. Hyaline cartilage
b. Fibrocartilage
c. Elastic cartilage
d. Both a and b
e. Both a and c

What type of tissue makes up the epiglottis?
a. Hyaline cartilage
b. Fibrocartilage
c. Elastic cartilage
d. Both a and b
e. Both a and c

Which type of cartilage is present in the temporomandibular joint?
a. Hyaline cartilage
b. Elastic cartilage
c. Fibrocartilage
d. All of the above
e. None of the above

What structure is called yellow cartilage?
a. Hyaline cartilage
b. Elastic cartilage
c. Fibrocartilage
d. Compact bone
e. Spongy bone

Bone. Osteo-chondrogenesis

What is compact bone?
a. Dense bone
b. Woven bone
c. Immature bone
d. Cancellous bone
e. Spongy bone

What cell is involved in bone resorption?
a. Osteoclast
b. Osteon
c. Osteocyte
d. Osteoblast
e. Osteoid

What type of basic tissue type is bone?
a. Epithelium
b. Connective tissue
c. Muscle
d. Nervous
e. Bone

What is woven bone?
a. Cancellous bone
b. Compact bone
c. Dense bone
d. Immature bone
e. Spongy bone

What are the spicules on spongy bone called?
a. Canaliculi
b. Sharpey's fibers
c. Trabeculae
d. Tome's process
e. Lacuna

Which cell type is responsible for bone breakdown?
a. Chondrocyte
b. Chondroblast
c. Osteocyte
d. Osteoclast
e. Bone lining cell

What is bone formation called when the bone is formed directly, without using a cartilage template?
a. Intraosseous
b. En bloc
c. Intramembranous
d. Endochondral
e. Endosteum

What forms the epiphyseal growth plate?
a. Elastic cartilage
b. Fibrocartilage
c. Hyaline cartilage
d. Compact bone
e. Spongy bone

Which type of bone has spicules?
a. Immature bone
b. Dense bone
c. Compact bone
d. Cancellous bone
e. Woven bone

What sits in a lacuna?
a. Osteoclast
b. Osteon
c. Osteocyte
d. Osteoblast
e. Osteoid

What is dense bone?
a. Immature bone
b. Cancellous bone
c. Compact bone
d. Woven bone
e. Spongy bone

Which cell is a resting osteoblast?
a. Chondrocyte
b. Chondroblast
c. Osteocyte
d. Osteoclast
e. Bone lining cell

What are the mineral crystals in bone called?
a. Hydroxyapatite
b. Calcite
c. Tourmaline
d. Rubellite
e. Indicolite

What is the cylindrical structure in compact bone?
a. Osteoclast
b. Osteon
c. Osteocyte
d. Osteoblast
e. Osteoid

What are Sharpey's fibers?
a. Elastic fibers
b. Collagen fibers
c. Reticular fibers
d. Trabeculae
e. Dense regular connective tissue

What is the space that an osteocyte rests in?
a. Canaliculi
b. Sharpey's fibers
c. Trabeculae
d. Tome's process
e. Lacuna

What is bone formation called when the bone is formed from a cartilage template?
a. Intraosseous
b. En bloc
c. Intramembranous
d. Endochondral
e. Endosteum

What is the primary component of red marrow?
a. Hematopoietic tissue
b. Fat
c. Cartilage
d. Fibrous tissue
e. Bone

What cell is an immature bone cell?
a. Osteoclast
b. Osteon
c. Osteocyte
d. Osteoblast
e. Osteoid

What is bundle bone?
a. Cancellous bone
b. Compact bone
c. Dense bone
d. Spongy bone
e. Immature bone

What is cancellous bone?
a. Dense bone
b. Woven bone
c. Immature bone
d. Compact bone
e. Spongy bone

What cell is involved in laying down new bone?
a. Osteoclast
b. Osteon
c. Osteocyte
d. Osteoblast
e. Osteoid

What is in the bone matrix?
a. Elastic fibers
b. Collagen fibers
c. Reticular fibers
d. Dense irregular connective tissue
e. Dense regular connective tissue

What are the small tunnels seen in bone?
a. Canaliculi
b. Sharpey's fibers
c. Trabeculae
d. Tome's process
e. Lacuna
What is the hollow area underneath an osteoclast called?
a. Space of Disse
b. Space of Mall
c. Vacuole
d. Lacuna
e. Howship's lacuna

What is the covering of a bone?
a. Perimysium
b. Periosteum
c. Perichondrium
d. Perineurium
e. Endosteum

What forms the articular surface on bones?
a. Spongy bone
b. Compact bone
c. Hyaline cartilage
d. Elastic cartilage
e. Fibrocartilage

What is the primary component of yellow marrow?
a. Hematopoietic tissue
b. Fat
c. Cartilage
d. Fibrous tissue
e. Bone

What is another term for the Haversian system?
a. Osteoclast
b. Osteon
c. Osteocyte
d. Osteoblast
e. Osteoid

What is nonlamellar bone?
a. Woven bone
b. Dense bone
c. Cancellous bone
d. Compact bone
e. Spongy bone

What is the mature bone cell called?
a. Osteoclast
b. Osteon
c. Osteocyte
d. Osteoblast
e. Osteoid

What is immature bone?
a. Dense bone
b. Woven bone
c. Cancellous bone
d. Compact bone
e. Spongy bone

What is unmineralized bone matrix?
a. Osteoclast
b. Osteon
c. Osteocyte
d. Osteoblast
e. Osteoid

What are the collagen fibers that extend into bone at an angle called?
a. Canaliculi
b. Sharpey's fibers
c. Trabeculae
d. Tome's process
e. Lacuna

Which cell is the mature bone cell?
a. Chondrocyte
b. Chondroblast
c. Osteocyte
d. Osteoclast
e. Bone lining cell

What is the lining of the inner bone on the side which abuts the medullary cavity?
a. Perimysium
b. Periosteum
c. Perichondrium
d. Perineurium
e. Endosteum

What forms the skeleton of the fetus?
a. Elastic cartilage
b. Hyaline cartilage
c. Fibrocartilage
d. Spongy bone
e. Compact bone

Which of the following is a multinucleated cell?
a. Osteoclast
b. Osteon
c. Osteocyte
d. Osteoblast
e. Osteoid

What is spongy bone
a. Immature bone
b. Compact bone
c. Cancellous bone
d. Dense bone
e. Woven bone
Muscle tissue
What is the connective tissue covering of a muscle fascicle?
a. Sarcolemma
b. Endomysium
c. Epimysium
d. Sarcoplasm
e. Perimysium

What is actin?
a. Myofilament
b. Myosin
c. Muscle fibers
d. Myofibrils
e. Myocardium

Which of the following is composed of smooth muscle?
a. Upper esophagus
b. Heart
c. Tongue
d. Biceps muscle
e. Walls of the visceral organs

What is a receptor in muscle?
a. Motor unit
b. Motor neuron
c. Motor end plate
d. Neuromuscular spindle
e. Neurotransmitter

Which fiber type is larger in diameter?
a. Red fibers
b. White fibers
c. Intermediate fibers
d. All of the above
e. None of the above

Which fiber type is make up fast-twitch muscle?
a. Red fibers
b. White fibers
c. Intermediate fibers
d. All of the above
e. None of the above

Which fiber type has more myoglobin?
a. Red fibers
b. White fibers
c. Intermediate fibers
d. All of the above
e. None of the above

Which fiber type gets its energy primarily from glycogen?
a. Red fibers
b. White fibers
c. Intermediate fibers
d. All of the above
e. None of the above

Which fiber type is seen in skeletal muscle?
a. Red fibers
b. White fibers
c. Intermediate fibers
d. All of the above
e. None of the above

What is line that bisects the dark band in muscle?
a. A band
b. I band
c. Z line
d. H band
e. M line

What is the outer connective tissue covering of a muscle?
a. Epimysium
b. Sarcoplasm
c. Perimysium
d. Sarcolemma
e. Endomysium

What is myosin?
a. Muscle fibers
b. Myofibrils
c. Myocardium
d. Myofilament
e. Muscle cell

Where is cardiac muscle found?
a. Myofilaments
b. Myosin
c. Muscle fibers
d. Myofibrils
e. Myocardium

What type of muscle has visible cross striations?
a. Skeletal muscle
b. Cardiac muscle
c. Smooth muscle
d. Both "a" and "b"
e. "a" "b" and "c"

What type of muscle is specialized for contraction?
a. Skeletal muscle
b. Cardiac muscle
c. Smooth muscle
d. Both "a" and "b"
e. "a" "b" and "c"

What is released at a synapse?
a. Motor unit
b. Motor neuron
c. Motor end plate
d. Neuromuscular spindle
e. Neurotransmitter

Which fiber type is more resistant to fatigue?
a. Red fibers
b. White fibers
c. Intermediate fibers
d. All of the above
e. None of the above

Lance Armstrong is the seven time winner of the Tour de France. The Tour de France is a bicycle race which covers between 3500 to 4000 kilometers. What type of muscle fiber probably predominates in his legs?
a. Red fibers
b. White fibers
c. Intermediate fibers
d. All of the above
e. None of the above

What region is made of thin filaments?
a. A band
b. I band
c. Z line
d. H band
e. M line

On a cross section of a muscle, how many thin filaments surround each thick filament?
a. 2
b. 3
c. 4
d. 6
e. 8

What is the plasma membrane of a muscle cell called?
a. Endomysium
b. Sarcolemma
c. Sarcoplasm
d. Perimysium
e. Epimysium

What are the thin filaments?
a. Myocardium
b. Myofibrils
c. Myofilaments
d. Muscle fibers
e. Myosin

Which of the following is composed of skeletal muscle?
a. Tongue
b. Blood vessel
c. Walls of the visceral organs
d. Lower esophagus
e. Heart

What type of muscle is composed of spindle shaped cells?
a. Skeletal muscle
b. Cardiac muscle
c. Smooth muscle
d. Both "a" and "b"
e. "a" "b" and "c"

What type of muscle is always multinucleated?
a. Skeletal muscle
b. Cardiac muscle
c. Smooth muscle
d. Both "a" and "b"
e. "a" "b" and "c"

Which fiber type is smaller in diameter?
a. Red fibers
b. White fibers
c. Intermediate fibers
d. All of the above
e. None of the above

Which fiber type fatigues more readily?
a. Red fibers
b. White fibers
c. Intermediate fibers
d. All of the above
e. None of the above

What type of muscle probably predominates in Charles Atlas, the worlds most famous power weight lifter?
a. Red fibers
b. White fibers
c. Intermediate fibers
d. All of the above
e. None of the above

What is line that bisects the light band in muscle?
a. A band
b. I band
c. Z line
d. H band
e. M line

What is the name of the tissue which surrounds muscle fascicles?
a. Perimysium
b. Periosteum
c. Perichondrium
d. Perineurium
e. Endosteum

What is the covering of an individual muscle fiber?
a. Sarcoplasm
b. Perimysium
c. Endomysium
d. Epimysium
e. Sarcolemma

What are the thick filaments composed of?
a. Myofilaments
b. Myosin
c. Muscle fibers
d. Myofibrils
e. Myocardium

Which of the following is composed of cardiac muscle?
a. Biceps muscle
b. Tongue
c. Heart
d. Upper esophagus
e. Walls of the visceral organs

What type of muscle contains centrally placed nuclei?
a. Smooth muscle
b. Cardiac muscle
c. Skeletal muscle
d. Both "a" and "b"
e. "a" "b" and "c"

What is the point that a neuron contacts a muscle called?
a. Motor unit
b. Motor neuron
c. Motor end plate
d. Neuromuscular spindle
e. Neurotransmitter

Which fiber type makes up slow-twitch muscle?
a. Red fibers
b. White fibers
c. Intermediate fibers
d. All of the above
e. None of the above

Which fiber type uses more anaerobic metabolism?
a. Red fibers
b. White fibers
c. Intermediate fibers
d. All of the above
e. None of the above

What is the dark band in muscle?
a. A band
b. I band
c. Z line
d. H band
e. M line

What bisects the H band?
a. A band
b. I band
c. Z line
d. E band
e. M line

What type of muscle has intercalated discs?
a. Skeletal muscle
b. Cardiac muscle
c. Smooth muscle
d. Both "a" and "b"
e. "a" "b" and "c"

What is the cytoplasm of a muscle cell?
a. Epimysium
b. Sarcolemma
c. Endomysium
d. Sarcoplasm
e. Perimysium

What is another term for muscle cells?
a. Myofilaments
b. Myosin
c. Muscle fibers
d. Myofibrils
e. Myocardium

Which of the following contains a substantial amount of smooth muscle?
a. Upper esophagus
b. Blood vessels
c. Heart
d. Biceps muscle
e. Tongue

What type of muscle contains actin and myosin?
a. Skeletal muscle
b. Cardiac muscle
c. Smooth muscle
d. Both "a" and "b"
e. "a" "b" and "c"

What is a single neuron and the aggregation of muscle fibers innervated by that single neuron called?
a. Motor unit
b. Motor neuron
c. Motor end plate
d. Neuromuscular spindle
e. Neurotransmitter

Which fiber type has a lot of mitochondria?
a. Red fibers
b. White fibers
c. Intermediate fibers
d. All of the above
e. None of the above

Which fiber type uses more aerobic metabolism?
a. Red fibers
b. White fibers
c. Intermediate fibers
d. All of the above
e. None of the above

What is the light band in muscle?
a. A band
b. I band
c. Z line
d. H band
e. M line

What type of muscle contains sarcomeres?
a. Skeletal muscle
b. Cardiac muscle
c. Smooth muscle
d. Both "a" and "b"
e. "a" "b" and "c"

What type of muscle has branching cells?
a. Skeletal muscle
b. Cardiac muscle
c. Smooth muscle
d. Both "a" and "b"
e. "a" "b" and "c"

Which fiber type is seen in smooth muscle?
a. Red fibers
b. White fibers
c. Intermediate fibers
d. All of the above
e. None of the above

A sarcomere is defined as the segment from _____ to ____?
a. A band
b. I band
c. Z line
d. H band
e. M line

What are the bundle of longitudinal contractile elements within a muscle cell called?
a. Myofilaments
b. Myosin
c. Muscle fibers
d. Myofibrils
e. Myocardium

Nerve tissue. 

In the microspacemen of spinal medulla it is necessary to analyse the condition of the nucleus, neurons of which form the motor endings in the skeletal musculature. What nucleus of the spinal medulla is it about?

a. Posterior horn proper nucleus

b. Gray substance proper nucleus

c. Nucleus thoracicus (Clarke'snucleus)

d. Nucleus intermediolaterallis

e. Disseminate nucleus

The ventral roots of 5 frontal segment of spinal cord were cut during experiment in the animal. What changes will take place in the innervation region? 
a. Loss of temperature sensitivity 
b. Loss of touch sensitivity 
c. Loss of movements 
d. Loss of proprioceptive sensitivity 
e. Hypersensitivity 

Victim has elbow joint trauma with avulsion of medial epicondyle of humerus. What nerve can be damaged in this trauma? 
a. Cardiac cutaneous nerve 
b. Radial 
c. Ulnar 
d. Medial cutaneous nerve of forearm 
e. Musculocutaneous nerve 
Sense organs.
The increased intraocular tension is observed in the patient with glaucoma. Secretion of aqueous humor by the ciliar body is normal. Injury of what structure of the eyeball wall caused the disorder of fluid flow-out from the anterior chamber?

a. Back epithelium of cornea

b. Venous sinus

c. Choroid

d. Ciliary muscle

e. Ciliar body

Middle part of cochlear of internal ear was destroyed in animal while experiment. It will cause abnormalities of the sound perception of the following frequencies: 
a. High and low 
b. No abnormalities 
c. High 
d. Middle 
e. Low 

A 25-year-old patient complained of the decreased vision. Accommodation disorders, dilated pupil, not reacting on the light were revealed on examination. Function of what muscles is disturbed? 
a. Lateral rectus muscle, pupil narrowing 
b. Pupil dilating muscle, ciliary 
c. Pupil narrowing and dilating muscle 
d. Pupil narrowing muscle, ciliary 
e. Inferior oblique muscle, ciliary 

The increased intraocular tension is observed in the patient with glaucoma. Secretion of aqueous humor by the ciliar body is normal. Injury of what structure of the eyeball wall caused the disorder of flow-out from the anterior chamber? 
a. Venous sinus 
b. Choroid 
c. Ciliar body 
d. Ciliary muscle 
e. Back epithelium of cornea 

Contraction of the ciliary muscles:

a. Is under involuntary control

b. Is required for focusing on near objects

c. Allows accommodation

d. Pulls the ciliary body anteriorly

The pigmented epithelium of the retina:

a. Rests on Bruch’s membrane

b. Continues anteriorly over the ciliary body and iris

c. Is derived from the outer wall of the optic cup

d. Phagocytoses flattened vesicles shed by the cone cells 

The structure that serves as the border between the anterior and posterior chambers of the eye is the:

a. Iris

b. Lens

c. Zonule

d. Ora serrata

e. Vitreous body

The fovea of the eye:

a. Is also known as the blind spot

b. Is the region where the axons of the ganglion cells converge and leave the eye as the optic nerve

c. Is the region where retinal veins converge to leave the eye

d. Is the thinnest part of the neural retina

e. Contains no photoreceptive cells

Nervous system.
A patient becomes quickly tired during his work. In vertical position with closed eyes he is dizzying and loosing equilibrium. Skeletal muscle tone is reduced. Which of the belowmentioned brain structures is damaged?

a. Cerebellum

b. Hypothalamus

c. Precentral gyrus of cerebral hemispheres cortex

d. Basal ganglia

e. Thalamus

Inhibition of alpha-motoneuron of the extensor muscles was noticed after stimulation of alpha-motoneuron of the flexor muscles during the experiment on the spinal column. What type of inhibition can this process cause?

a. Lateral 
b. Recurrent 
c. Presynaptic 
d. Depolarizational 
e. Reciprocal 
A 68-year-old woman can't move by the upper and lower right extremities due to  insult. Muscle tone of these extremities and reflexes are increased. There are pathological reflexes. What form of the paralysis is it?

a. Hemiplegia 
b. Tetraplegia 
c. Monoplegia 
d. Dissociation 
e. Paraplegia 
During investigation of patient, it was found formation in the white substance of cerebral hemispheres with location in the knee and frontal part of posterior crus of internal capsule. Fibres of what conductive tract of the brain will be  disrupted?

a. Tr. frontopontinus 
b. Tr. pyramidalis 
c. Tr. frontothalamicus 
d. Tr. parietooccipitopontinus 
e. Тr. thalamocorticalis 
A 60-year-old man after cerebral hemorrhage felt asleep for a long time. Damage of what structure caused this state? 
a. Nuclears of the cerebral nerves 
b. Hippocampus 
c. Reticular formation 
d. Cortex of the large hemispheres 
e. Black substances 
Accelerated frequency of the heart rate and increased blood pressure were marked in the sportsman on the start before the competitions. Influence of what parts of the CNS can explain these changes? 
a. Medulla 
b. Cortex of the large hemispheres 
c. Hypothalamus 
d. Diencephalon 
e. Mesencephalon
What are the supporting cells in the central nervous system called?
a. Schwann cells
b. Basket cells
c. Ganglion
d. Neuroglia
e. Satellite cells

Which of the following is an element of the peripheral nervous system?
a. Receptors
b. Brachial plexus
c. Ganglia
d. Sciatic nerve
e. All of the above

What are most neurons in the body?
a. Unipolar
b. Pseudounipolar
c. Bipolar
d. Multipolar
e. Both a and b

What is the cell body of a neuron called?
a. Ganglion
b. Perikaryon
c. Astrocyte
d. Nissl
e. Terminal bouton

Which cell is a macrophage found in the central nervous system?
a. Kupffer cells
b. Histiocyte
c. Dust cell
d. Langerhans cell
e. Microglia

Which type of neuron is multipolar?
a. Motor neurons
b. Interneurons
c. Sensory neurons
d. Both a and b
e. All of the above

What provides tensile strength to a neuron?
a. Meninges
b. Myelinated nerve fibers
c. Cell bodies
d. Nodes of Ranvier
e. Neurofilaments

Which meninx is made of a delicate web like connective tissue?
a. Dura mater
b. Arachnoid
c. Pia mater
d. Both a and b
e. All of the above

What are the conglomerations of gray matter deep within the cerebrum and cerebellum 
called?
a. Tracts
b. Islets
c. Soma
d. Cortex
e. Nuclei

Which of the following is involved in the blood brain barrier?
a. Astrocytes
b. Ependymal cells
c. Oligodendrocytes
d. Microglia
e. Schwann cells

Skin and it`s appendages

What type of epithelium forms the epidermis?
a. Simple squamous epithelium
b. Simple cuboidal epithelium
c. Simple columnar epithelium
d. Stratified squamous epithelium
e. Pseudostratified epithelium

What is a characteristic of the cells in the epidermis of the skin?
a. Microvilli
b. Stereocilia
c. Cilia
d. Keratinization
e. Both a and b

What is another term for an acinar gland?
a. Simple gland
b. Compound gland
c. Tubular
d. Alveolar
e. Tubuloalveolar
Which of the following is composed of loose connective tissue?
a. Epidermis
b. Reticular layer of dermis
c. Hypodermis
d. Both a and b
e. Both b and c

Where is thick skin found?
a. Over the knee
b. Sole of the feet
c. Breast
d. Lips
e. All of the above

Which layer of the epidermis has cells which have keratohyaline granules?
a. Stratum basale
b. Stratum spinosum
c. Stratum granulosum
d. Stratum lucidum
e. Stratum corneum

Which cell is a macrophage found in the skin?
a. Kupffer cells
b. Histiocyte
c. Dust cell
d. Langerhans cell
e. Microglia

A new miracle skin cream recently hit the beauty counters which is suppose to stimulate collagen production. Which cell is it supposedly stimulating?
a. Langerhans cell
b. Keratinocyte
c. Melanocyte
d. Merkel cell
e. Fibroblast

What is the half moon shaped white area on a nail called?
a. Lunula
b. Eponychium
c. Matrix
d. Nail bed
e. Root

What is the growing part of the nail?
a. Lunula
b. Eponychium
c. Matrix
d. Nail bed
e. Root

What type of glands are the ceruminous glands?
a. Sebaceous glands
b. Eccrine sweat gland
c. Endocrine gland
d. Apocrine sweat gland
e. Oil gland

Which of the following is the most abundant sensory receptor of the skin?
a. Free nerve endings
b. Ruffini's corpuscles
c. Pacinian corpuscles
d. Krause's end bulbs
e. Meissner's corpuscle

Where can hair be found?
a. Palms of hand
b. Soles of feet
c. Urogenital openings
d. Lips
e. Eyelid

Which of the following is composed of connective tissue?
a. Epidermis
b. Dermis
c. Hypodermis
d. Both a and b
e. Both b and c

Which of the following is composed of dense irregular connective tissue?
a. Epidermis
b. Reticular layer of dermis
c. Hypodermis
d. Both a and b
e. Both b and c

Where is thick skin found?
a. Lips
b. Over the knee
c. Palms
d. Breast
e. All of the above

Which layer of the epidermis is present only in thick skin?
a. Stratum basale
b. Stratum spinosum
c. Stratum granulosum
d. Stratum lucidum
e. Stratum corneum

Which cell is a mechanoreceptors?
a. Langerhans cell
b. Keratinocyte
c. Melanocyte
d. Merkel cell
e. Fibroblast

Which cell is found in the dermis?
a. Langerhans cell
b. Keratinocyte
c. Melanocyte
d. Merkel cell
e. Fibroblast

What is underneath the nail plate?
a. Lunula
b. Eponychium
c. Matrix
d. Nail bed
e. Root

What is the innervation of an eccrine sweat gland?
a. Cholinergic; parasympathetic
b. Cholinergic; sympathetic
c. Adrenergic; parasympathetic
d. Adrenergic; sympathetic
e. Cholinergic; motor

Which of the following responds to continuous pressure?
a. Free nerve endings
b. Ruffini's corpuscles
c. Pacinian corpuscles
d. Krause's end bulbs
e. Meissner's corpuscle

Which of the following is found in the hair follicle?
a. Pigment epithelium
b. Muller's cells
c. Huxley's layer
d. Horizontal cells
e. Cones

Cardiovascular system. Vessels.
At what level of the vascular tree does gas exchange occur?
a. Capillary
b. Arteriole
c. Venule
d. Elastic artery
e. Muscular artery

Which layer in an artery is primarily skeletal muscle?
a. Tunica intima
b. Tunica media
c. Tunica externa
d. All of the above
e. None of the above

Which of the following is NOT a distinguishing feature between larger veins and arteries?
a. Veins have valves whereas arteries do not have valves
b. The tunics in veins are not as clearly delimited as are the tunics in arteries
c. The walls in veins are thinner than the walls in arteries
d. The lumen of a vein is smaller than the lumen of an artery
e. None. All of the above are true

In which structure are things moved across the epithelium via pinocytotic vesicles?
a. Continuous capillaries
b. Fenestrated capillaries
c. Sinusoidal capillaries
d. AV anastomoses
e. Venous sinus

What is a thoroughfare which is an intermediate between an arteriole and capillary? 
a. Metcapillary
b. Metartery
c. Metvenule
d. Metarteriole
e. None of the above

Which layer in an artery contains the endothelium?
a. Tunica intima
b. Tunica media
c. Tunica externa
d. All of the above
e. None of the above

What do you call the simple squamous epithelium that lines the blood vessels?
a. Epithelioid tissue
b. Mesothelium
c. Endothelium
d. Transitional
e. Pseudostratified

In which of the following is a portal system NOT found?
a. Kidney
b. Liver
c. Muscle
d. Brain
e. None of the above is correct; a portal system is found in all of the above

What is the brachial artery?
a. Capillary
b. Arteriole
c. Venule
d. Elastic artery
e. Muscular artery

Which of the following is a distinct structure found specifically in the liver, spleen, and bone marrow?
a. Continuous capillaries
b. Fenestrated capillaries
c. Sinusoidal capillaries
d. AV anastomoses
e. Venous Sinus

Which layer in an artery is primarily smooth muscle?
a. Tunica intima
b. Tunica media
c. Tunica externa
d. All of the above
e. None of the above

A pronounced internal elastic membrane and external elastic membrane are distinguishing characteristics of which type of vessel?
a. Capillary
b. Arteriole
c. Venule
d. Elastic artery
e. Muscular artery

Which of the following constitutes the microvascular bed of a tissue?
a. Capillaries
b. Capillaries and arterioles
c. Capillaries, arterioles, and post capillary venules
d. Capillaries, arterioles, post capillary venules, and veins
e. Capillaries, arterioles, post capillary venules, veins, and arteries

What are wide, leaky capillaries called?
a. Continuous capillaries
b. Fenestrated capillaries
c. Sinusoidal capillaries
d. AV anastomoses
e. Venous sinus

What is a direct route between arteries and veins called?
a. Continuous capillaries
b. Fenestrated capillaries
c. Sinusoidal capillaries
d. AV anastomoses
e. Venous sinus

Which layer in an elastic artery is the largest thickest?
a. Tunica intima
b. Tunica albuginea
c. Tunica externa
d. Tunica vaculosa
e. Tunica media

In which of the following is an arterial portal system found?
a. Kidney
b. Liver
c. Muscle
d. Brain
e. Stomach

What are vasa vasorum?
a. Vasoactive material
b. Valves
c. Vasopressin secreting cells
d. Nerves
e. Blood vessels

Which structure has one or two layers of muscle in the tunica media?
a. Capillary
b. Arteriole
c. Venule
d. Elastic artery
e. Muscular artery

Which layer in a large vessel contains the nervi vascularis?
a. Tunica intima
b. Tunica media
c. Tunica externa
d. All of the above
e. None of the above

What vessel regulates the amount of blood going into a capillary bed?
a. Capillary
b. Arteriole
c. Venule
d. Elastic artery
e. Muscular artery

What is the aorta?
a. Capillary
b. Arteriole
c. Venule
d. Elastic artery
e. Muscular artery

What are most of the named arteries in the body?
a. Capillary
b. Arteriole
c. Venule
d. Elastic artery
e. Muscular artery

Which structure contains pores?
a. Continuous capillaries
b. Fenestrated capillaries
c. Sinusoidal capillaries
d. AV anastomoses
e. Venous sinus

Which one of the following is a pluripotential cell that is prevalent around post capillary venules?
a. Fibroblast
b. Endothelial cell
c. Pericyte
d. Histiocyte 
e. Macrophage

Which layer in an artery is also called the tunica adventitia?
a. Tunica intima
b. Tunica media
c. Tunica externa
d. All of the above
e. None of the above

Which layer in an artery is primarily connective tissue?
a. Tunica intima
b. Tunica media
c. Tunica externa
d. All of the above
e. None of the above

What type of tissue lines blood vessels?
a. Simple squamous epithelium
b. Simple cuboidal epithelium
c. Simple columnar epithelium
d. Stratified squamous epithelium
e. Transitional epithelium

In which of the following is a venous portal system found?
a. Kidney
b. Liver
c. Muscle
d. Skin
e. Stomach

What are nervi vascularis?
a. Neuropil
b. Neuroglia
c. Pigmented lesion of a vessel
d. Nerves
e. Blood vessels

Which structure receives blood from the capillary bed?
a. Capillary
b. Arteriole
c. Venule
d. Elastic artery
e. Muscular artery

Which layer in a large artery or vein contains the vasa vasorum?
a. Tunica intima
b. Tunica media
c. Tunica externa
d. All of the above
e. None of the above

What is the venous channel which is around the brain?
a. Continuous capillaries
b. Fenestrated capillaries
c. Sinusoidal capillaries
d. AV Anastomoses
e. Venous sinus

Cardiovascular system. Heart.
Which layer of the heart is composed of cardiac muscle?
a. Epicardium
b. Pericardium
c. Myocardium
d. Endocardium
e. Endomysium

Where is the myocardium the thickest?
a. Right atria
b. Left atria
c. Right ventricle
d. Left ventricle
e. Both right and left ventricle

What is the connective tissue sac surrounding the heart?
a. Epicardium
b. Pericardium
c. Myocardium
d. Endocardium
e. Endomysium

What is the connective tissue called which surrounds an individual cardiac 
muscle fiber?
a. Epicardium
b. Pericardium
c. Myocardium
d. Endocardium
e. Endomysium

What is the pacemaker of the heart?
a. Sinoatrial node
b. Atrioventricular node
c. Bundle of His
d. Right bundle branch
e. Purkinje fiber

Which of the following is not true regarding the endocardium?
a. The endocardium contains abundant adipose tissue
b. The endocardium is layered
c. The endocardium contains blood vessels
d. The endocardium contains smooth muscle
e. The endocardium is lined by endothelium

What is the atrioventricular bundle?
a. Sinoatrial node
b. Atrioventricular node
c. Bundle of His
d. Right bundle branch
e. Purkinje fiber

Where is endothelium located?
a. Epicardium
b. Pericardium
c. Myocardium
d. Endocardium
e. Endomysium

"Pulling on heartstrings" refers to strong feelings of love or sympathy pulling 
one's conscience. What anatomical structure is it a reference to?

Sinoatrial node
b. Bundle of His
c. Right bundle branch
d. Purkinje fiber
e. Chordae tendinae

 Where are the blood vessels which supply the heart located?
a. Epicardium
b. Pericardium
c. Myocardium
d. Endocardium
e. Endomysium
Purkinje fibers:

a. Are specialized cardiac muscle cells

b. Are densely packed with myofilaments

c. Communicate with typical cardiac muscle cells through gap junctions

d. Are most commonly found directly beneath the ventricular epicardium

Lymphoid and immune organs
What is another term for lymphatic nodules?
a. Lymph follicles
b. White pulp
c. Peyer's patches
d. Lymph node
e. Diffuse lymphatic tissue

Which layer of the gastrointestinal tract contains the gut associated lymphatic tissue?
a. Mucosa
b. Sub mucosa
c. Muscularis externa
d. Serosa
e. Adventitia

Which of the following is NOT made of a framework of reticular fibers?
a. Bone marrow
b. Lymph node
c. Spleen
d. Thymus
e. None of the above--all are made of a framework of reticular fibers.

What is the acronym for the diffuse lymphatic tissue found in the intestinal tract?
a. BALT
b. DALT
c. FALT
d. GALT
e. HALT

What is another name for a splenic nodule?
a. Malpighian corpuscle
b. Trabeculae
c. White pulp
d. Red pulp
e. Cords of Billroth

What is the term for the entire lymphatic region of the spleen?
a. Malpighian corpuscle
b. Trabeculae
c. White pulp
d. Red pulp
e. Cords of Billroth

Which of the following is NOT a function of the spleen?
a. Destruction of red blood cells
b. Lymphocyte production
c. Storage of blood
d. Fetal blood cell formation
e. All of the above are functions of the spleen

When looking at a lymph node, where are lymphatic nodules?
a. Deep cortex
b. Tertiary cortex
c. Juxtamedullary cortex
d. Paracortical zone
e. Outer cortex

Where do T lymphocytes gain their immunocompetence?
a. Thymus
b. Thyroid
c. Bursa of Fabricus
d. Bone marrow
e. Lymph node

What do you call the random distribution of lymphocytes that are found in the respiratory tract, genitourinary tract, and gastrointestinal tract?
a. Lymph follicles
b. White pulp
c. Peyer's patches
d. Lymph node
e. Diffuse lymphatic tissue

What is a characteristic of a secondary nodule?
a. Germinal center
b. Lymphocytes
c. Capsule
d. Trabeculae
e. None of the above

Which of the following is composed of epithelioreticular cells?
a. Spleen
b. Thymus
c. Bone marrow
d. Lymph node
e. None of the above

What is the acronym for the diffuse lymphatic tissue in the respiratory tract?
a. BALT
b. DALT
c. FALT
d. GALT
e. HALT

What are the localized concentrations of lymphocytes that are seen in the respiratory tract, genitourinary tract, and gastrointestinal tract?
a. Lymph follicles
b. White pulp
c. Peyer's patches
d. Lymph node
e. Diffuse lymphatic tissue

What is the lymphatic tissue in the spleen called?
a. Lymph follicles
b. White pulp
c. Peyer's patches
d. Lymph node
e. Diffuse lymphatic tissue

What are the splenic cords?
a. Cords of Billroth
b. Cords of Paneth
c. Cords of Bellini
d. Cords of Rothchild
e. Cords of Hassall

When looking at the spleen, what are the invaginations of the capsule into the splenic parenchyma called?
a. Malpighian corpuscle
b. Trabeculae
c. White pulp
d. Red pulp
e. Cords of Billroth

When looking at a lymph node, which term does not refer to the same region as all the others listed?
a. Deep cortex
b. Tertiary cortex
c. Outer cortex
d. Juxtamedullary cortex
e. Paracortical zone

What are the spherical structures seen in the medulla of the thymus called?
a. Psammoma bodies
b. Corpora arenacea
c. Hassall's corpuscles
d. Prostatic concretions
e. Pacinian corpuscles

Where are Peyer's patches located?
a. Esophagus
b. Stomach
c. Small intestine
d. Large intestine
e. Rectum

What are the large aggregates of lymphatic tissue in the ileum?
a. Lymph follicles
b. White pulp
c. Peyer's patches
d. Lymph node
e. Diffuse lymphatic tissue

Where is diffuse lymphatic tissue NOT found?
a. Gastrointestinal tract
b. Central nervous system
c. Genito-urinary tract
d. Respiratory tract
e. None of the above-diffuse lymphatic tissue is found in all of these regions

Where are the splenic sinuses?
a. Malpighian corpuscle
b. Trabeculae
c. White pulp
d. Red pulp
e. Cords of Billroth

What does the acronym PALS stand for?
a. Papillary layer sinus
b. Peyer's lymphatic sheath
c. Periarterial lymphatic sheath
d. Peripheral lymphatic sinus
e. Parenchymal lymphatic sheath

Which of the following is an encapsulated lymphatic organ?
a. Lymph follicles
b. White pulp
c. Peyer's patches
d. Lymph node
e. Diffuse lymphatic tissue

Endocrine system
Which of the following is NOT a characteristic of the endocrine system?
a. Products secreted into blood
b. Glands with ducts
c. Secretes hormones
d. Non localized response
e. All of the following are characteristics of the endocrine system

What type of hormone is testosterone?
a. Protein
b. Amino acid chain
c. Steroid
d. Catecholamine
e. None of the above

What organ is nicknamed the "master gland"
a. Adrenal medulla
b. Adrenal cortex
c. Brain
d. Pituitary
e. Heart

What cell type secretes ACTH?
a. Lactotropic cells
b. Thyrotropic cells
c. Somatotropic cells
d. Corticotropic cells
e. Gonadotropic cells

Where is corpora arenacea found?
a. Pituitary
b. Pineal gland
c. Adrenal gland
d. Pancreas
e. Thyroid

Which gland secretes melatonin?
a. Pancreas
b. Thyroid
c. Pineal gland
d. Adrenal gland (cortex)
e. Adrenal gland (medulla)

Which cell type are involved in the secretion thyroglobulin?
a. Principal cell
b. Oxyphil cell
c. Parafollicular cells
d. Follicular cells
e. Chromaffin cells

Where is insulin secreted from?
a. Alpha cells
b. Beta cells
c. Gamma cells
d. Delta cells
e. Acini

Which of the following is part of the adrenal gland?
a. Chromaffin cells
b. Zona reticularis
c. Zona glomerulosa
d. Zona fasciculata
e. All of the above

Which part the adrenal gland secretes glucocorticoids?
a. Chromaffin cells
b. Zona reticularis
c. Zona glomerulosa
d. Zona fasciculata
e. None of the above

What type of hormone is insulin?
a. Protein
b. Peptide
c. Steroid
d. Catecholamine
e. None of the above

What connects the pituitary to the hypothalamus?
a. Pars intermedia
b. Pars tuberalis
c. Infundibulum
d. Adenohypophysis
e. Neurohypophysis

Which of the following is not part of the adenohypophysis?
a. Pars intermedia
b. Pars tuberalis
c. Pars distalis
d. Pars nervosa
e. All of the above are part of the adenohypophysis

What cell type secretes prolactin?
a. Lactotropic cells
b. Thyrotropic cells
c. Somatotropic cells
d. Corticotropic cells
e. Gonadotropic cells

Which of the following cells can be classified as an acidophil?
a. Gonadotropic cells
b. Corticotropic cells
c. Thyrotropic cells
d. Lactotropic cells
e. All of the above

Which gland secretes calcitonin?
a. Pancreas
b. Thyroid
c. Pineal gland
d. Adrenal gland (cortex)
e. Adrenal gland (medulla)

Which cell type are also called C cells?
a. Principal cell
b. Oxyphil cell
c. Parafollicular cells
d. Follicular cells
e. Chromaffin cells

Where is glucagon secreted from?
a. Alpha cells
b. Beta cells
c. Gamma cells
d. Delta cells
e. Acini

Which of the following is a component of the adrenal medulla?
a. Chromaffin cells
b. Zona reticularis
c. Zona glomerulosa
d. Zona fasciculata
e. All of the above

What are the cells of the pineal gland called?
a. Follicular cells
b. Parafollicular cells
c. Pinealocytes
d. P cells
e. PP cells
What type of hormone is prolactin?
a. Protein
b. Peptide
c. Steroid
d. Catecholamine
e. None of the above

Where are tropic hormones secreted from?
a. Pars intermedia
b. Pars tuberalis
c. Infundibulum
d. Adenohypophysis
e. Neurohypophysis

Which of the following is not part of the neurohypophysis?
a. Median eminence
b. Pars distalis
c. Pars nervosa
d. Infundibular stalk
e. All of the above are part of the neurohypophysis

What cell type secretes MSH?
a. Lactotropic cells
b. Thyrotropic cells
c. Somatotropic cells
d. Corticotropic cells
e. Gonadotropic cells

Which of the following cells can be classified as an acidophil?
a. Corticotropic cells
b. Thyrotropic cells
c. Gonadotropic cells
d. None of the above
e. All of the above

Which gland secretes epinephrine?
a. Pancreas
b. Thyroid
c. Pineal gland
d. Adrenal gland (cortex)
e. Adrenal gland (medulla)

Which gland secretes cortisol?
a. Pancreas
b. Thyroid
c. Pineal gland
d. Adrenal gland (cortex)
e. Adrenal gland (medulla)

Which cell type is found in the adrenal medulla?
a. Principal cell
b. Oxyphil cell
c. Parafollicular cells
d. Follicular cells
e. Chromaffin cells

Where is pancreatic polypeptide secreted from?
a. Alpha cells
b. Beta cells
c. Gamma cells
d. Delta cells
e. Acini

Which of the following is the middle layer of the adrenal cortex?
a. Chromaffin cells
b. Zona reticularis
c. Zona glomerulosa
d. Zona fasciculata
e. None of the above
What type of hormone is antidiuretic hormone?
a. Protein
b. Peptide
c. Steroid
d. Catecholamine
e. None of the above

Where is oxytocin secreted from?
a. Pars intermedia
b. Pars tuberalis
c. Infundibulum
d. Adenohypophysis
e. Neurohypophysis

What cell type secretes LH?
a. Lactotropic cells
b. Thyrotropic cells
c. Somatotropic cells
d. Corticotropic cells
e. Gonadotropic cells

Which of the following cells can be classified as a basophil?
a. Thyrotropic cells
b. Lactotropic cells
c. Somatotropic cells
d. None of the above
e. All of the above

Which gland secretes T3?
a. Pancreas
b. Thyroid
c. Pineal gland
d. Adrenal gland (cortex)
e. Adrenal gland (medulla)

Which gland secretes sex steroids?
a. Pancreas
b. Thyroid
c. Pineal gland
d. Adrenal gland (cortex)
e. Adrenal gland (medulla)

Which of the following is the exocrine portion of the pancreas?
a. Islets of Langerhans
b. Alpha cells
c. Beta cells
d. Delta cells
e. Acini

Where is somatostatin secreted from?
a. Alpha cells
b. Beta cells
c. Gamma cells
d. Delta cells
e. Acini

Which of the following is seen the innermost portion the adrenal gland?
a. Chromaffin cells
b. Zona reticularis
c. Zona glomerulosa
d. Zona fasciculata
e. None of the above

What cell of the parathyroid gland is also called a "chief cell"?
a. Principal cell
b. Oxyphil cell
c. Parafollicular cells
d. Follicular cells
e. Chromaffin cells
What type of hormone is oxytocin?
a. Protein
b. Peptide
c. Steroid
d. Catecholamine
e. None of the above

Where is antidiuretic hormone (ADH) secreted from?
a. Pars intermedia
b. Pars tuberalis
c. Infundibulum
d. Adenohypophysis
e. Neurohypophysis

What cell type secretes FSH?
a. Lactotropic cells
b. Thyrotropic cells
c. Somatotropic cells
d. Corticotropic cells
e. Gonadotropic cells

Which of the following cells can be classified as a basophil?
a. Lactotropic cells
b. Corticotropic cells
c. Somatotropic cells
d. None of the above
e. All of the above

Which gland secretes norepinephrine?
a. Pancreas
b. Thyroid
c. Pineal gland
d. Adrenal gland (cortex)
e. Adrenal gland (medulla)

What is corpora arenacea?
a. Brain sand
b. Basal body
c. Nissl body
d. White body
e. Degenerating corpus luteum

What gland secretes aldosterone?
a. Pancreas
b. Thyroid
c. Pineal gland
d. Adrenal gland (cortex)
e. Adrenal gland (medulla)

What is the most common cell in the parathyroid gland?
a. Principal cell
b. Oxyphil cell
c. Parafollicular cells
d. Follicular cells
e. Chromaffin cells

Where are catecholamines secreted from?
a. Chromaffin cells
b. Zona reticularis
c. Zona glomerulosa
d. Zona fasciculata
e. None of the above

Which of the following is the outer layer of the adrenal cortex?
a. Chromaffin cells
b. Zona reticularis
c. Zona glomerulosa
d. Zona fasciculata
e. None of the above

What type of hormone is estradiol?
a. Protein
b. Amino acid chain
c. Steroid
d. Catecholamine
e. None of the above

What is another term for the anterior lobe of the pituitary?
a. Pars intermedia
b. Pars tuberalis
c. Pars distalis
d. Pars nervosa
e. Infundibular stalk

What cell type secretes growth hormone?
a. Lactotropic cells
b. Thyrotropic cells
c. Somatotropic cells
d. Corticotropic cells
e. Gonadotropic cells

Which of the following cells can be classified as a basophil?
a. Somatotropic cells
b. Lactotropic cells
c. Gonadotropic cells
d. None of the above
e. All of the above

Where is the endocrine portion of the pancreas housed?
a. Islets of Langerhans
b. Alpha cells
c. Beta cells
d. Delta cells
e. Acini

Which gland secretes glucagon?
a. Pancreas
b. Thyroid
c. Pineal gland
d. Adrenal gland (cortex)
e. Adrenal gland (medulla)

Which cell type secretes calcitonin?
a. Principal cell
b. Oxyphil cell
c. Parafollicular cells
d. Follicular cells
e. Chromaffin cells

Which cell type is found in the parathyroid, but is not the most abundant cell type?
a. Principal cell
b. Oxyphil cell
c. Parafollicular cells
d. Follicular cells
e. Chromaffin cells

Which part the adrenal gland secretes mineralocorticoids?
a. Chromaffin cells
b. Zona reticularis
c. Zona glomerulosa
d. Zona fasciculata
e. None of the above

Which of the following is the inner layer of the adrenal cortex?
a. Chromaffin cells
b. Zona reticularis
c. Zona glomerulosa
d. Zona fasciculata
e. None of the above

Digestive system
Oral cavity
Where is the primary site for absorption of nutrients?
a. Stomach
b. Small intestine
c. Ascending colon
d. Descending colon
e. Both a and b equally

Where is masticatory mucosa found
a. Tongue underside
b. Hard palate
c. Soft palate
d. Lips
e. Cheek

What is the surface layer of masticatory mucosa composed of?
a. Non keratinized stratified squamous epithelium
b. Keratinized stratified squamous epithelium
c. Simple squamous epithelium
d. Pseudostratified squamous epithelium
e. Both a and b

Which layer is NOT present in masticatory epithelium?
a. Stratum basale
b. Stratum spinosum
c. Stratum granulosum
d. Stratum lucidum
e. Stratum corneum

Which type of papillae on the tongue is the most abundant?
a. Filiform papillae
b. Circumvallate papillae
c. Fungiform papillae
d. Foliate papillae
e. All of the above

Which type of papillae on the tongue is not well developed in man?
a. Filiform papillae
b. Circumvallate papillae
c. Fungiform papillae
d. Foliate papillae
e. All of the above

Which type of papillae on the tongue does NOT contain taste buds?
a. Filiform papillae
b. Circumvallate papillae
c. Fungiform papillae
d. Foliate papillae
e. All of the above

Which type of papillae on the tongue is mushroom shaped?
a. Filiform papillae
b. Circumvallate papillae
c. Fungiform papillae
d. Foliate papillae
e. All of the above

The Teeth

The epithelial enamel organ is observed in maxilla's histological section of 3.5-month human fetus. Mesenchymal cells surround this enamel organ. What is name of these cells?
a. Stellate reticulum
b. Odontoblasts
c. External enamel cells
d. Internal enamel cells
e. Dental sac

A dentist revealed abnormal development of the enamel at a patient. What components of the enamel organ were injured at an embryo?
a. Dental papilla
b. Inner epithelium of enamel organ
c. Stellite reticulum of enamel organ
d. Outer epithelium of enamel organ
e. Dental sac

At examination, replying about development of hard and soft tissues of dens, the student has made a mistake, when has told, that enamel is formed of a mesenchyma cells. What should be a right answer?
a. From outer enamel epithelium
b. From stellate reticulum
c. From inner enamel epithelium
d. From dental sac
e. From dental papilla

What covers the tooth that is embedded within the jaw?
a. Pulp cavity
b. Dentin
c. Dental pulp 
d. Cementum
e. Enamel

What is within the pulp cavity?
a. Pulp cavity
b. Dentin
c. Dental pulp 
d. Cementum
e. Enamel

What is the central portion of a tooth called?
a. Pulp cavity
b. Dentin
c. Dental pulp 
d. Cementum
e. Enamel

What covers the visible portion of a tooth ?
a. Pulp cavity
b. Dentin
c. Dental pulp 
d. Cementum
e. Enamel

What surrounds the pulp cavity?
a. Pulp cavity
b. Dentin
c. Dental pulp 
d. Cementum
e. Enamel

Salivary glands
The histological slide shows an organ of oral cavity, which mostly consist of mucous acini. What organ is here?
a. Submandibular gland
b. Palatine tonsil
c. Sublinqual gland
d. Parotid gland
e. Soft palate

Pharynx. Oesophagus.
What type of muscle makes up the muscularis externa in the esophagus?
a. Smooth
b. Striated
c. Cardiac
d. both a and b
e. a, b, and c.
Which organ has a mucosa lined by nonkeratinized stratified squamous epithelium?
a. Esophagus
b. Stomach
c. Small intestine
d. Large intestine
e. Rectum
Stomach

A 43-year-old man suffers from chronic atrophis gastritis and megaloblastic hyper-chromic anemia, He also has methylmalonic aciduria. Insufficiency of what vitamin led to the development of such complex of symptoms?
a. Vitamin B1 

b. Vitamin B3
c. Vitamin B5
d. Vitamin B6
During histological examination of the stomach it was found out that glands contain very small amount of pariental cells or they are totally absent. Mucose membrane of what part of the stomach was studied? 
a. - 
b. Fundus of stomach 
c. Body of stomach 
d. Cardiak part 
e. Pyloric part 
Which cells secrete hydrochloric acid?
a. Parietal cells
b. Oxyntic cells
c. Chief cells
d. Mucous neck cells
e. Both a and b
What are the folds of the stomach called?
a. Ruffled border
b. Taeniae coli
c. Gastric glands
d. Rugae
e. Gastric pits
Which cells secrete pepsinogen?
a. Parietal cells
b. Oxyntic cells
c. Chief cells
d. Mucous neck cells
e. Both a and b

Which layer contains Meissner's plexus?
a. Mucosa
b. Sub mucosa
c. Muscularis externa
d. Serosa
e. Adventitia

Small and large intestine
During an operative measure at the patient the part of a small intestine is removed. Due to what elements regeneration of a muscular layer is possible?
a. Satellite cells
b. Myosymplasts
c. Adipose cells
d. Smooth muscle cells
e. Fibrocytes

Submucous layer of intestine contains serous gland. What part of intestine is in histological slide?
a. Ileum
b. Coecum
c. Large intestine
d. Duodenum
e. Appendix

A 39-year-old patient after radiotherapy because of hepatoma developed ulcer of small intestine. It was caused by the inhibition of mitotic activity of the cells, which are responsible for regeneration of small intestine surface epithelium. Inhibition of what cells mitotic activity does this patient have?
a. Exocryocytes with acidophilic granules
b. Columnar cells
c. Endocrine cells
d. Crypt columnar cells without margins
e. Caliciform exocrynocytes

A patient underwent the surgical removal of pathologically disordered distal quarter of small intestine. How will it influense the absorption of nutritional substances in case of patient's ordinary diet?

a. Carbohydrates absorption will be reduced

b. Proteins absorption will be reduced

c. Water absorption will be reduced

d. Lipids absorption will be reduced

e. Absorption will not be altereded

 Because of present gallstone in the common bile duct, a patient has no bile excretion into duodenum. What disorder can it cause?

a. Carbohydrates digestion

b. Proteins absorption

c. Proteins digestion

d. Carbohydrates absorption

e. Lipids digestion
An experimental dog by means of stomach tube was given 150 ml of meat broth. The concentration of which of the belowmentioned substances will be increased in animal's blood?

a. Gastrin

b. Vasoactive intestinal polypeptide

c. Neurotensin

d. Somatostatin

e. Insulin
A 39-year-old patient after radiotherapy because of hepatoma developed ulcer of small intestine. It was caused by the inhibition of mytotic activity of the cells, which are responsible for regeneration of small intestine surface epithelium. Inhibition of what cells mitotic activity does this patient have?

a. Crypt columnar cells without margins

b. Columnar cells

c. Endocrine cells

d. Caliciform exocrynocytes

e. Exocryocytes with acidophilic granules

Liver
In light microscope section you may see epithelial cells are grouped in interconnected plates which form polygonal lobule. The space between these plates contains sinusoidal capillaries. What organ is presented?
a. Thymus
b. Spleen
c. Pancreas
d. Liver
e. Lymph node

Parents brought a one-month-old male infant to the emergency room. The examining emergency room physician notes that his skin and sclera are icteric. A blood test indicates elevated unconjugated bilirubin in the serum. The elevated bilirubin levels in this patient are most likely the result of
a. Decreased destruction of red blood cells
b. Deficiency of hepatocytes enzymes regulating bilirubin solubility
c. Increased function of Ito-cells
d. Decreased function of Pit-cells
e. Deficiency of Kupfer- cells
What are divertiuclae of the mucosa of the gallbladder called?
a. Rokitansky-Aschoff sinuses
b. Ducts of Luschka
c. Duct of Wirsung
d. Ampulla of Vater
e. Sphincter of Oddi
What structure is in the middle of the hepatic lobule?
a. Hepatic artery
b. Portal triad
c. Central vein
d. Portal vein
e. Sinusoids

What is the space between the liver sinusoids and the hepatocytes called?
a. Space of Disse
b. Space of Mall
c. Vacuole
d. Lacuna
e. Howship's lacuna

Which structures are part of the portal triad?
a. Portal vein
b. Hepatic artery
c. Central vein
d. Sinusoids
e. Both a and b

Which of the following is NOT a function of the liver?
a. Metabolism of bilirubin
b. Deamination of amino acids
c. Storage of iron
d. Storage of copper
e. Storage of calcium

What is the functional unit of the liver?
a. Lobule
b. Portal triad
c. Central vein
d. Hepatocyte
e. Sinusoids

Pancreas
One of the principal types of diabetes (type 1) is an autoimmune disease in which antibodies against endocrine cells of pancreas (islets of Langhergans) and depresses activ​ity of cells. Which cells activity is depressed?
a. PP-cells
b. A-cells
c. D-cells
d. B-cells 
Which of the following is the exocrine portion of the pancreas?
a. Islets of Langerhans
b. Alpha cells
c. Beta cells
d. Delta cells
e. Acini

What is the name of the cellular mass for the endocrine portion of the pancreas?
a. Islets of Langerhans
b. Alpha cells
c. Beta cells
d. Delta cells
e. Acini

What cells of the pancreas secrete somatostatin?
a. Islets of Langerhans
b. Alpha cells
c. Beta cells
d. Delta cells
e. Gamma cells

Which of the following is the exocrine portion of the pancreas?
a. Islets of Langerhans
b. Alpha cells
c. Beta cells
d. Delta cells
e. Acini
What is the classification of the pancreas?
a. Mixed
b. Endocrine
c. Exocrine
d. Both endocrine and exocrine
e. None of the above

Where in the pancreas are islets of Langerhans most numerous?
a. Head
b. Body
c. Tail
d. Evenly distributed
e. Depends on the individual

Respiratory system
Which cell is a also called a septal cell?
a. Clara cell
b. Type I pneumocyte
c. Type II pneumocyte
d. Dust cell
e. Brush cell

Which cell is a respiratory macrophage?
a. Kupffer cells
b. Histiocyte
c. Dust cell
d. Langerhans cell
e. Microglia

Which cell is a type of neuron?
a. Basal cells
b. Brush cells
c. Olfactory cells
d. Sustentacular cells
e. All of the above

What cell types are found in the respiratory mucosa?
a. Ciliated cells
b. Goblet cells
c. Basal cells
d. Brush cells
e. All of the above

What type of tissue makes up the epiglottis?
a. Compact bone
b. Spongy bone
c. Hyaline cartilage
d. Fibrocartilage
e. Elastic cartilage

What is the smallest airspace of the respiratory tree?
a. Alveolar duct
b. Alveoli
c. Alveolar sac
d. Respiratory bronchiole
e. Terminal bronchiole

What type of epithelium lines the trachea?
a. Simple squamous epithelium
b. Simple cuboidal epithelium
c. Simple columnar epithelium
d. Stratified squamous epithelium
e. Pseudostratified epithelium

Which structure is part of the conducting portion of the airway?
a. Bronchi
b. Alveolar ducts
c. Alveoli
d. Alveolar sacs
e. Respiratory bronchioles

What type of epithelium lines the vestibule?
a. Simple squamous epithelium
b. Simple columnar epithelium
c. Stratified squamous epithelium
d. Ciliated pseudostratified epithelium with goblet cells
e. Transitional epithelium

Which cartilage of the larynx is made of hyaline cartilage?
a. Thyroid cartilage
b. Cricoid cartilage
c. Arytenoid cartilage
d. Corniculate cartilage
e. All of the above

What part of the respiratory tree is the functional unit where gas exchange occurs?
a. Alveolar duct
b. Alveoli
c. Alveolar sac
d. Respiratory bronchiole
e. Terminal bronchiole

Which cell type is involved in general sensation of the olfactory mucosa?
a. Basal cells
b. Brush cells
c. Olfactory cells
d. Sustentacular cells
e. All of the above

What type of cells are found in the olfactory mucosa?
a. Basal cells
b. Brush cells
c. Olfactory cells
d. Sustentacular cells
e. All of the above

What type of tissue makes up the rings of the trachea?
a. Compact bone
b. Spongy bone
c. Hyaline cartilage
d. Fibrocartilage
e. Elastic cartilage
Which cell is a squamous pulmonary epithelial cell?
a. Clara cell
b. Type I pneumocyte
c. Type II pneumocyte
d. Dust cell
e. Brush cell

Which cell is also called an alveolar phagocyte?
a. Clara cell
b. Type I pneumocyte
c. Type II pneumocyte
d. Dust cell
e. Brush cell

Which is structure is NOT part of the conducting portion of the airway?
a. Bronchi
b. Larynx
c. Trachea
d. Larynx
e. Respiratory bronchioles

What type of tissue lines the pharynx?
a. Simple squamous epithelium
b. Simple columnar epithelium
c. Stratified squamous epithelium
d. Ciliated pseudostratified epithelium with goblet cells
e. Both c and d

What is an olfactory cell?
a. Unipolar neuron
b. Bipolar neuron
c. Multipolar neuron
d. Supporting cell
e. None of the above

Which type of cartilage is found in the larynx?
a. Hyaline cartilage
b. Elastic cartilage
c. Fibrocartilage
d. Both a and b
e. All of the above

What structure is similar to a "bunch of grapes?
a. Alveolar duct
b. Alveoli
c. Alveolar sac
d. Respiratory bronchiole
e. Terminal bronchiole

Which cell is found in large numbers in the terminal bronchioles?
a. Clara cell
b. Type I pneumocyte
c. Type II pneumocyte
d. Dust cell
e. Brush cell

Which cell type is located at the basal lamina of the olfactory mucosa?
a. Basal cells
b. Brush cells
c. Olfactory cells
d. Sustentacular cells
e. All of the above

Which cell type is most numerous in olfactory mucosa?
a. Basal cells
b. Brush cells
c. Olfactory cells
d. Sustentacular cells
e. None of the above

What type of epithelium is found in the respiratory mucosa of man?
a. Non-ciliated pseudostratified columnar epithelium with goblet cells
b. Ciliated pseudostratified columnar epithelium with goblet cells
c. Simple columnar epithelium
d. Stratified squamous epithelium
e. Transitional epithelium

What type of tissue makes up the "Adam's apple"?
a. Compact bone
b. Spongy bone
c. Hyaline cartilage
d. Fibrocartilage
e. Elastic cartilage

What type of tissue forms the alveoli in the lung?
a. Simple squamous epithelium
b. Simple cuboidal epithelium
c. Simple columnar epithelium
d. Stratified squamous epithelium
e. Pseudostratified epithelium

What type of tissue lines the paranasal sinuses?
a. Simple squamous epithelium
b. Simple columnar epithelium
c. Stratified squamous epithelium
d. Ciliated pseudostratified epithelium with goblet cells
e. Transitional epithelium

In which structure does gas exchange NOT occur?
a. Alveolar duct
b. Alveoli
c. Alveolar sac
d. Respiratory bronchiole
e. Terminal bronchiole
Which cell secretes surfactant?
a. Clara cell
b. Type I pneumocyte
c. Type II pneumocyte
d. Dust cell
e. Brush cell

Which cartilage of the larynx is made of elastic cartilage?
a. Thyroid cartilage
b. Cricoid cartilage
c. Arytenoid cartilage
d. Epiglottis
e. Corniculate cartilage

Which cell is rarely found in the alveolus?
a. Clara cell
b. Type I pneumocyte
c. Type II pneumocyte
d. Dust cell
e. Brush cell

What are the alveolar pores called?
a. Pores of Luschka
b. Pores of Descemet
c. Pores of Mall
d. Pores of Kohn
e. Pores of Disse

What is the first portion of the respiratory tree where gas exchange can occur?
a. Alveolar duct
b. Alveoli
c. Alveolar sac
d. Respiratory bronchiole
e. Terminal bronchiole

Urinary system

What is the glomerulus?
a. Afferent arteriole
b. Efferent arteriole
c. Capillary tuft
d. Peritubular capillaries
e. Vasa recta

What is a renal pyramid and its associated cortex referred to?
a. Medulla
b. Lobe
c. Renal columns
d. Nephron
e. Medullary ray

Approximately how many nephrons are there in each kidney?
a. 1,000
b. 10,000
c. 100,000
d. 1,000,000
e. 10,000,000

What is the Malpighian corpuscle?
a. Glomerulus
b. Bowman's capsule
c. Renal corpuscle
d. Loop of Henle
e. Distal convoluted tubule

What are the ducts of Bellini?
a. Collecting tubules
b. Distal convoluted tubule
c. Proximal convoluted tubule
d. Loop of Henle
e. Medullary ray

What are the foot processes on podocytes?
a. Visceral layer of Bowman's capsule
b. Parietal layer of Bowman's capsule
c. Pedicels
d. Juxtaglomerular cells
e. Macula densa

What vessel is a branch of the interlobular artery?
a. Afferent arteriole
b. Efferent arteriole
c. Capillary tuft
d. Peritubular capillaries
e. Vasa recta

What type of tissue lines the bladder?
a. Simple squamous epithelium
b. Simple cuboidal epithelium
c. Simple columnar epithelium
d. Stratified squamous epithelium
e. Transitional epithelium

What is the projection of the medulla into the renal cortex called?
a. Medulla
b. Lobe
c. Renal columns
d. Nephron
e. Medullary ray

What makes up the Juxtaglomerular apparatus?
a. Pedicels
b. Juxtaglomerular cells
c. Macula densa
d. Both a and b
e. Both b and c

What vessels arise from the efferent arteriole?
a. Afferent arteriole
b. Efferent arteriole
c. Capillary tuft
d. Peritubular capillaries
e. Vasa recta

Which structure does the proximal convoluted lead to?
a. Glomerulus
b. Bowman's capsule
c. Renal corpuscle
d. Loop of Henle
e. Distal convoluted tubule

What is the correct term for the foot processes on podocytes?
a. Pedis
b. Pedicels
c. Pedalis
d. Pes
e. Pediocyte

Which of the following is NOT a function of the kidney?
a. Erythropoietin production
b. Vitamin D modification
c. Acid base balance
d. Aldosterone production
e. Renin production

What is the space between the renal pyramids called?
a. Medulla
b. Lobe
c. Renal columns
d. Nephron
e. Medullary ray

What is the capillary tuft of the nephron?
a. Glomerulus
b. Bowman's capsule
c. Renal corpuscle
d. Loop of Henle
e. Distal convoluted tubule

What vessel supplies blood to the glomerulus?
a. Afferent arteriole
b. Efferent arteriole
c. Capillary tuft
d. Peritubular capillaries
e. Vasa recta

What type of tissue composes the kidney tubules?
a. Simple squamous epithelium
b. Simple cuboidal epithelium
c. Simple columnar epithelium
d. Stratified squamous epithelium
e. Transitional epithelium

Where is renin secreted from?
a. Visceral layer of Bowman's capsule
b. Parietal layer of Bowman's capsule
c. Pedicels
d. Juxtaglomerular cells
e. Macula densa

What are the "straight vessels"?
a. Afferent arteriole
b. Efferent arteriole
c. Capillary tuft
d. Peritubular capillaries
e. Vasa recta

What is the inner region of the kidney called?
a. Medulla
b. Lobe
c. Renal columns
d. Nephron
e. Medullary ray

What is the double layered cap on the glomerulus?
a. Glomerulus
b. Bowman's capsule
c. Renal corpuscle
d. Loop of Henle
e. Distal convoluted tubule

Where are podocytes seen?
a. Visceral layer of Bowman's capsule
b. Parietal layer of Bowman's capsule
c. Pedicels
d. Juxtaglomerular cells
e. Macula densa

What vessel is formed from an aggregation of the glomerular capillaries?
a. Afferent arteriole
b. Efferent arteriole
c. Capillary tuft
d. Peritubular capillaries
e. Vasa recta

What is the functional unit of the kidney?
a. Medulla
b. Lobe
c. Renal columns
d. Nephron
e. Medullary ray

Which structure leads to the collecting duct?
a. Glomerulus
b. Bowman's capsule
c. Renal corpuscle
d. Loop of Henle
e. Distal convoluted tubule 

What cells are sensitive to sodium concentration?
a. Visceral layer of Bowman's capsule
b. Parietal layer of Bowman's capsule
c. Pedicels
d. Juxtaglomerular cells
e. Macula densa

Male reprodactive system

During a puberty man's sexual glands produce to the blood man's sexual hormone test​osterone which is responsible for development of the secondary sexual features.. What cells of testes synthesize this hormone?
a. Sertoli cells
b. Leydig cells
c. Spermatozoons
d. Fibroblasts
e. Spermatids
Which cells produce testosterone?
a. Interstitial cells
b. Leydig cells
c. Sertoli cells
d. Sustentacular cells
e. Both a and b

How many seminiferous tubules are found in each testis of an average man?
a. 4-6
b. 40-60
c. 400-600
d. 4000-6000
e. 40,000-60,000

 Which of the following are produced by the Leydig cells?
a. Inhibin
b. Androgen binding protein
c. Testosterone
d. Both a and b
e. All of the above

Which of the following is NOT considered part of the male genital duct system?
a. Rete testis
b. Tubuli recti
c. Seminal vesicles
d. Ductus deferens
e. Ductus epididymidis

What is the surface modification seen on the cells of the epididymis?
a. Microvilli
b. Stereocilia
c. Cilia
d. Keratinization
e. Both a and b

What type of hormone is testosterone?
a. Protein
b. Amino acid chain
c. Steroid
d. Catecholamine
e. None of the above

 Which of the following is true?
a. There is one corpus cavernosa and one corpus spongiosum
b. There is one corpus cavernosa and two corpora spongiosum
c. There are two corpora cavernosa and one corpus spongiosum
d. There are two corpora cavernosa and two corpora spongiosum
e. There are four corpora cavernosa and two corpora spongiosum

 What gland in the male is homologous to the greater vestibular gland in the female?
a. Bartholin's gland
b. Prostate gland
c. Skene's gland
d. Cowper's gland
e. Brunner's gland

What is the most commonly seen type of epithelium in the prostate?
a. Transitional
b. Simple columnar
c. Stratified squamous
d. Simple squamous
e. Simple cuboidal

 What type of epithelium lines the epididymis?
a. Pseudostratified
b. Simple columnar
c. Stratified squamous
d. Simple squamous
e. Simple cuboidal

Female reprodactive system

The cystoscopy of a patient with cystic tumor revealed the area of mucous layer that is without folds. Which of the following parts of urinary bladder was observed?
a. Cervix
b. Body
c. Fundus
d. Apex
e. All mucous layer
Usage of oral contraceptives with sex hormones inhibits secretion of the hypophysial hormones. Secretion of which of the indicated hormones is inhibited while using oral contraceptives with sex hormones? 

a. Follicle-stimulating
b. Oxytocin
c. Vasopressin
d. Somatotropic 

e. Thyrotropic

In the ovary specimen colored with hematoxylin-eosin, follicle is determined where cubic-shaped follicle epithelium cells are placed in 1-2 layers, and scarlet covering is seen around ovocyte. Name this follicle:
a. Atretic
b. Secondary
c. Mature
d. Primary
e. Primordial

There are a lot of large branched-shaped cells found in the myometrium, which contain smooth myofilaments in the cytoplasm, and well-developed rER. What are these cells?
a. Smooth muscle cells
b. Myoepithelial cells
c. Skeletal muscle fibres
d. Fibrocytes
e. Myofibroblasts
The pregnant woman was a subject of caesarean section operation with the aim of fetus extraction. The uterus wall was sected at the long distance. By what means will a healing in the myometrium stitch take place?
a. Formation of skeletal muscle fibres
b. Hyperthrophy of smooth muscle cells
c. New formation of smooth muscle tissue
d. Formation of connective tissue cicatrix.
e. Proliferation of satellite cells
A woman complains of excessive menstruation, menstrual colic usually. Ultrasound investigation of the uterus shows 16 mm thickness of endometrium (N 8-9mm) lday before menstruation. Which from the following cells are producing an increased level of estrogen and are stimulating overgrowth of endometrium?
a. Cells of granulosa in secondary and Graafian follicles
b. Endocrine cells of adenohypophisis
c. Endocrine cells of pars nervosa
d. Cells of adrenal cortex
e. Cells of adrenal medulla

After gynecologic operation woman complained of pain in lower abdominal region and vaginal discharge. Gynecologist made a diagnosis - inflammation of inner uterine layer. Name this layer.
a. Perimetrium
b. Myometrium
c. Endometrium
d. Parametrium
e. Peritoneum
